G(PCy — o

+(0 + Jr)

Xco(1P) MASS

VALUE (MeV) EVTS DOCUMENT ID TECN COMMENT

3414.71+ 0.30 OUR AVERAGE

34130 + 1.9 +£06 933 L aAll 1788 LHCB pp — bbX —
2AKTKT)X

34142 + 05 +£23 5.4k UEHARA 08 BELL v — X — hadrons

3406 + 7 +6 230 2 ABE 07 BELL ete™ — J/y(ce)

341421+ 0.39:+0.27 ABLIKIM 056 BES2 (2S) — 7YX

34147 T 8% +0.2 3 ANDREOTTI 03 E835 Bp— xoo — n0n0

34155 + 0.4 +0.4 392 4#BAGNASCO 02 E835 Bp— xco — J/v

3417.4 + {g +0.2 3 AMBROGIANI 998 E835 Bp — ete ~

34141 + 0.6 +£0.8 BAI 998 BES  (25) —» X

3417.8 + 0.4 +4 3 GAISER 86 CBAL 1(25) —» X

3416 + 3 +4 5 TANENBAUM 78 MRK1 et e~

e o o \We do not use the following data for averages, fits, limits, etc. @ o @

34146 + 1.1 266 UEHARA 13 BELL vy — KZkQ

3416.5 + 3.0 EISENSTEIN 01 CLE2 eTe™ — ete xq

3422 +10 5 BARTEL 788 CNTR ete™ — J/y2y

3415 + 9 5 BIDDICK 77 CNTR ete™ = ~X

1From a fit of the ¢ ¢ invariant mass with the width of x(1P) fixed to the PDG 16

value.

2From a fit of the J/4 recoil mass spectrum. Supersedes ABE,K 02 and ABE 04G.

3Using mass of 1(25) = 3686.0 MeV.

4 Recalculated by ANDREOTTI 05A, using the value of ¢)(25) mass from AULCHENKO 03.
5Mass value shifted by us by amount appropriate for ¥(25) mass = 3686 MeV and

J/4(1S) mass = 3097 MeV.

Xco(1P) WIDTH

VALUE (MeV) EVTS DOCUMENT ID TECN

COMMENT

10.8+0.6 OUR FIT
10.54+0.8 OUR AVERAGE Error includes scale factor of 1.1.

10.6+1.942.6 5.4k UEHARA 08 BELL
12. 6+i 2“1’ 9 ABLIKIM 056 BES2
8. 6*} ;io 1 ANDREOTTI 03 E835
9.74+1.0 392 1 BAGNASCO 02 E835

166732401 AMBROGIANI 998 E835

14.34+2.0+3.0 BAI 981 BES
13.5+3.3+4.2 GAISER 86 CBAL
e o o We do not use the following data for averages, fits, limits,

13.24+2.1 266 UEHARA 13 BELL
1 Recalculated by ANDREOTTI 05A.

YY = Xco — hadrons
¥(25) = YXco

PP — Xco — 7070

PP — Xco — I/
pp— ete y
¥(28) - yrtx
P(25) —» X, '\/7r07r0
etc. e 0o @

0 4,0
Yy — KSKS

Xco(1P) DECAY MODES

Scale factor/

Mode Fraction (I';/T) Confidence level
Hadronic decays
o 2(zt77) (2.34+0.18) %
My POt (9.1 £2.9 ) x 10~3
rs  p%°
4 f5(980) 15(980) (6.6 +2.1 ) x 10~ 4
s, ata 970 (3.3 +£0.4 )%
e ptr %4+ cc (2.9 £0.4 )%
r, 4n° (33 £0.4 ) x 10~
g 7ra  KTK™ (1.81+0.14) %
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M40

K5(1430)° K (1430)°

T KTK™

K5(1430)0K35(1430)° + c.c. —

trKtK—

K1(1270)" K~ + c.c. —

trKtK-

7T
K1(1400)" K~ + c.c. —

Tt KT K™
f0(980) f5(980)
15(980) 1(2200)

(
(
f5(1370) f5(1370
f5(1370) f(1500

(

(

(

Sh

)

0) )

1370) fp(1710)

f5(1500) f5(1370)
15(1500) f5(1500)
f5(1500) f5(1710)

KTK ntn

K% K*nt 7r+7r

Kt K= 7970

Kt~ Ko70+ cc.
pT K=K+ cc
K*(892)~ Kt 70 —

Ktn~ KOn0+ cc.

K% K%?T+7T
Kt K= na0
3(nta)
K+ K*(892)°7~ + c.c.
K*(892)° K*(892)°
T
7T07']
Won/
7T077c
nn
.
nn
ww
wo
WwKTK™
Kt K=
KSKS
w+w_n
ata
KOKtr~+ cc.
Kt K= 70
KK 0 K0
+ —
CRAICRAICRAI)
KTK-KTK~
KtK=¢
KOKt 71~ ¢+ cc.
KTK— 7%
Y
¢
kol
pp
ppm®

<
<

(

<
<
<

(8.6
(4.2
(
(
(
(

o~ o~ o~ o~ o~ o~

<
<
<

~ o~~~ o~~~ o~

<
<
<
<
<

(
(
(
(
(
(
(
(
(
(
(

4.0 -
9.8 739 )x107*

2. -
80 729 )x1074
6.3 £1.9 ) x 1073
2.7 x 1073
16 710104

79 722 )x1074

2
2.7 x 1074
1.7 x 10~4
6.7 733 )x1074
13 x 10~4
5 x 1079
7 x 105

+0.9 ) x 1073

4+0.4 ) x 1073

56 +£0.9 ) x 1073
2.40+0.33) %
1.2140.21) %
46 +£1.2 )x 1073

57 +1.1 )x 1073
3.0 £0.7 ) x 1073
1.2040.18) %

75 £1.6 ) x 1073
1.7 +£0.6 )x 1073
8.51£0.33) x 10—3

1.8 x 10—4
1.1 x 1073
1.6 x 10~3

3.01£0.19) x 103
9.1 £1.1 )x 107>
2.1740.12) x 10~3
9.7 £1.1 ) x 1074
1.41+0.13) x 10~4
1.9440.21) x 103
6.05£0.31) x 10—3
3.16£0.17) x 10—3

2.0 x 10~4
4 x 10~4
9 x 105
6 x 1072
2.3 x 10~4

14 £05 )x 103
5.8 +05 )x 10~4
2.82:£0.29) x 10—3
9.7 +£255 ) x 1074
3.7 £0.6 ) x 1073
1.90+£0.35) x 103
1.18+0.15) x 103
8.0 £0.7 ) x 10~4
8.4 +1.0 )x 10~
2.2140.08) x 10~4
7.0 £0.7 ) x 10~4

CL=90%

CL=90%
CL=90%

CL=90%
CL=90%
CL=90%

CL=90%

CL=90%
CL=90%
CL=90%
CL=90%
CL=90%
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o1
92
lo3
log
l95
o6

P17
ppw
ppP®
pprta
pprO 70

pp K™ K~ (non-resonant)

PP K
pnm
ﬁnﬂ'+
pnm T
ﬁnw+w0
AA
At a=

0

AA7T 7~ (non-resonant)
¥ (1385)T Ar~ + c.c.
5 (1385)" Ant + c.c.

KtpA+ cc.
K*(892)tpA+ c.c.
KT pA(1520)+ c.c.
A(1520) A(1520)
>050

StPKY+ ce
SOBKT + cc.
sty-

3t

> (1385)"T X (1385)~
5 (1385)~ X(1385)"
K= A=+ cc
=0=0

=—=+

ncﬂ+ﬂi

vJ/¥(1S)
vp°

Yw

vo

vy

ete™ J/y(1S)
pwt = J/p(1S)

(3.5 +£0.4 ) x 10~4
(52 £0.6 ) x 10~%
(6.0 £1.4 ) x 1072
(21 £0.7 ) x 1073
(1.04+£0.28) x 10—3
(1.2240.26) x 10~%
<838 x 104
(1.2740.11) x 1073
(1.37+0.12) x 103
(2.34+0.21) x 103
(2.2140.18) x 103
(3.2740.24) x 10~4
(1.1840.13) x 10~3

<5 x 10—4
<5 x 10~4
<5 x 10~4

(1.25+0.12) x 10—3
(4.8 £0.9 ) x 1074
(2.9 £0.7 ) x 1074
(3.1 £1.2 ) x 1074
(4.68+0.32) x 10~ 4
(3.52+0.27) x 10~4
(3.0340.20) x 10~4
(4.6 +£0.8 ) x 10~4
(5.1 £0.5 )x 10~%
(1.6 £0.6 ) x 10~4
(2.3 £0.7 ) x10~%
(1.94+0.35) x 10~%
(3.1 £0.8 ) x10~%
(4.8 £0.7 ) x 1074
<7 x 104

Radiative decays

(1.4040.05) %

<9 X 10_6
<8 x 10~
<6 x 10~

(2.04+0.09) x 10~4
(1.33+0.29) x 10~4
<19 x 107

CL=90%

CL=90%
CL=90%
CL=90%

S=1.3

CL=90%

CL=90%
CL=90%
CL=90%

CL=90%

CONSTRAINED FIT INFORMATION
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A multiparticle fit to xc1(1P), xc0(1P), xc2(1P), and ¢(2S)
with 4 total widths, a partial width, 25 combinations of partial
widths obtained from integrated cross section, and 84 branching
ratios uses 248 measurements to determine 49 parameters. The
overall fit has a X2 = 378.1 for 199 degrees of freedom.

The following off-diagonal array elements are the correlation coefficients
<6pi5pj>/(5pl~5pj), in percent, from the fit to parameters p;, including the branching

fractions, x; = T;/Tiotal-
X 24
Xg 9 2
X30 5 1 28
X32 8 2 10 3
X36 4 1 5 1 14
X420 8 2 8 3 18 11
X43 7 2 8 2 18 10 14
X51 5 1 5 2 5
X56 7 2 6 2 9 5 7 7 4
X5g 3 1 4 1 3 -1 3 3
x71 4 1 5 1 13 8 10 10 5 5
Xg1 5 1 6 2 17 11 13 12 6 6
Xg5 -8 -2 -2 -3 14 9 10 10 3 1
r —26 -6 —-19 —-10 -—15 -7 -14 -12 -10 -13
X1 X2 X8 X30 X32 X36 X42 X43 X51 X56
X71 5
Xg1 —19 9
Xg5 6 9 13
r —4 —7 -9 38

X58 71 X91 Xg5

xco(1P) PARTIAL WIDTHS
— Xxco(1P) F()I(vJ/¥(1S))/T (total) ——
F(pp) x T(v4/¥(1S))/Tiotal Isglo1/I

VALUE (eV) EVTS DOCUMENT ID TECN  COMMENT
33.6+ 23 OURFIT

e o o We do not use the following data for averages, fits, limits, etc. ® o @
26.6+ 2.6+1.4 392 L2BAGNASCO 02 E835 pp— xcg — J/¥7
4871113404 1,2 AMBROGIANI 998 E835 Bp — ~J/1

L Calculated by us using B(J/¥(15) — et e™) = 0.0593 + 0.0010.

2Values in (F(pﬁ) X r(w/¢(15))/rtota|) and (r(pﬁ)/rtota| X F(*yJ/d)(lS))/rtotm)
are not independent. The latter is used in the fit since it is less correlated to the total
width.

— Xco(1P) F(i)F(y7)/T (total) ———
r(2(1r+1r‘)) X r(w)/rm. Flgs/l

VALUE (eV) EVTS DOCUMENT ID TECN  COMMENT

52 + 4 OURFIT
49 110 OUR AVERAGE Error includes scale factor of 1.8.

44.7+ 3.6+4.9 3.6k UEHARA 08 BELL vy — X9 — 2(nT77)

75 +£13 +8 EISENSTEIN 01 CLE2 eTe™ — eTe x
0,0

F(0°0°) x T(v7)/Teotal M3los/I

VALUE (eV) CL% EVTS DOCUMENT ID TECN  COMMENT

e o o We do not use the following data for averages, fits, limits, etc. @ o @

<12 90 <252 UEHARA 08 BELL ~v — xc — 2(xT77)
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F(1r+1r_ Kt K‘) e F('y'y)/rm| Fglos/l
VALUE (eV) EVTS DOCUMENT ID TECN COMMENT

40.0+3.5 OUR FIT

38.84+3.7+4.7 1.7k UEHARA 08 BELL v — xoo = KTK atn™
I'(K"' K-atn 7r°) X I'('y'y)/l'tota| 21795/l
VALUE (eV) EVTS DOCUMENT ID TECN COMMENT

26+4+4 1094 DEL-AMO-SA..11M BABR ~vy —» Kt K~ 7t 7= 70
F(KTK*(892)°7~ +c.c.) x M(77)/Ttotal l30Mos/I
VALUE (eV) EVTS DOCUMENT ID TECN COMMENT

16 +4 OURFIT
16.7+6.1+3.0 495+182 UEHARA 08 BELL vy — xo — KTK atz™

I(K*(892)°K*(892)°) x I'(77)/Total 31los/T
VALUE (eV) CL% EVTS DOCUMENT ID TECN COMMENT

e o o We do not use the following data for averages, fits, limits, etc. @ o @

<6 90 <148  UEHARA 08 BELL v — xoo— KTK atzn™
F(xm) x F(v7)/Teotal l32lgs5/T
VALUE (eV) EVTS DOCUMENT ID TECN COMMENT

18.8+ 1.3 OURFIT
23 + 5 OUR AVERAGE

2077178448 10379 LUEHARA 09 BELL 106 eTe” — ete 00

227+ 32435 120418 2NAKAZAWA 05 BELL 106 eTe™ — ete ntn

Twe multiplied the measurement by 3 to convert from 7070 to wm. Interference with

the continuum included.
We have multiplied 7 7~ measurement by 3/2 to obtain 7.

F(nn) x T(v7)/Ttotal 3605/

VALUE (eV) EVTS DOCUMENT ID TECN COMMENT

9.4+23+1.2 22 1 UEHARA 10A BELL 106 eTe™ — ete ny
Linterference with the continuum not included.

Mww) x F(Y7)/Total 39l g5/l

VALUE (eV) CL% DOCUMENT ID TECN COMMENT

e o o We do not use the following data for averages, fits, limits, etc. @ o @

<3.9 90 T 128 BELL ~v — 2(zTa— x0)
Lusing B(w —» nt o~ 20) = (89.2 &+ 0.7)%.

Fwe) x F(v7)/Ttotal T40lo5/I

VALUE (eV) CL% DOCUMENT ID TECN COMMENT

e o o We do not use the following data for averages, fits, limits, etc. @ o @

<0.34 90 Lo 128 BELL v — KT K ata— 0
Lusing B(¢ = KT K™) = (48.9 £ 0.5)% and B(w —» =t x~#0) = (89.2 + 0.7)%.

F(K*K~) x F(77)/Ttotal Fa2lo5/T

VALUE (eV) EVTS DOCUMENT ID TECN COMMENT

13.4+1.0 OUR FIT
14.3+1.6+2.3 153 £ 17 NAKAZAWA 05 BELL 106 ete™ — ete KT K™

M(KEKY) x T(v7)/Trotal la3los/T

VALUE (eV) EVTS DOCUMENT ID TECN  COMMENT

7.0 £0.5 OURFIT

8.7 +1.7 +0.9 266 1 UEHARA 13 BELL vy — KZkQ

e o o We do not use the following data for averages, fits, limits, etc. ® o @

7.0040.65+0.71 134 + 12 CHEN 07B BELL eTe™ — eTe ™ x g
1Supersedes CHEN 078B.

I'(K"‘K‘ K+K—) X r(’y7)/rt°ta| r51I'g5/I'

VALUE (eV) EVTS DOCUMENT ID TECN COMMENT

6.21+0.7 OUR FIT
79+13+11 215436  UEHARA 08 BELL ~v — xco — 2(KTK™)

3/12/2021 16:46 Page 5

NODE=MO056G08
NODE=MO056G08

NODE=M056G01
NODE=MO056G01

NODE=M056G09
NODE=M056G09

NODE=MO056G10
NODE=M056G10

NODE=MO056G3
NODE=MO056G3

NODE=M056G3;LINKAGE=UE

NODE=MO056G;LINKAGE=NA

NODE=MO056G06
NODE=M056G06

NODE=M056G06;LINKAGE=UE

NODE=M056G02
NODE=M056G02

NODE=M056G02;LINKAGE=LI

NODE=M056G03
NODE=M056G03

NODE=M056G03;LINKAGE=LI

NODE=M056G4
NODE=MO056G4

NODE=M056G5
NODE=M056G5

NODE=MO056G5;LINKAGE=UE

NODE=M056G11
NODE=M056G11



M(¢¢) x F(v7)/Ttotal Is6los/T
VALUE (eV) EVTS DOCUMENT ID TECN COMMENT

1.76+0.18 OUR FIT

17240334014 56+ 11 LLIU 128 BELL ~v — 2(KTK™)

e o o We do not use the following data for averages, fits, limits, etc. @ o @
23 +£0.9 +04 23.6%£9.6 UEHARA 08 BELL vy — xc0 — 2(KJr K™)
ISupersedes UEHARA 08. Using B(¢ - KT K™) = (48.9 & 0.5)%.

Xc0(1P) BRANCHING RATIOS
— HADRONIC DECAYS —

M(2(t 7)) /Teotal r/r
VALUE DOCUMENT ID

0.0234+0.0018 OUR FIT

F(ePnta=)/r(2(nt 7)) M2/
VALUE DOCUMENT ID TECN COMMENT

0.3940.12 OUR FIT

0.39+0.12 TANENBAUM 78 MRK1 %(25) = vxc0

r(Po nt 7"_) /Ttotal ra/T
VALUE DOCUMENT ID

0.0091+0.0029 OUR FIT

I (f(980) /5(980)) /T'total la/T
VALUE (units 10_4) EVTS DOCUMENT ID TECN COMMENT
6.6:+2.1+0.1 364+9  LABLIKIM 046 BES  (2S) - ~y2nt 27~

LABLIKIM 046 reports [[(x.o(1P) —  f5(980)%(980))/Tiorall X [B(#:(2S) —
¥Xco(1P))] = (6.5 £1.6 £1.3) x 105 which we divide by our best value B(1/(2S5) —

rXxc0(1P)) = (9.79 £ 0.20) x 102, Our first error is their experiment's error and our
second error is the systematic error from using our best value.

|'(1r+ 7~ 70 1r°) /Ttotal s/l
VALUE (%) EVTS DOCUMENT ID TECN COMMENT
3.3+0.440.1 1751.4  1HE 088 CLEO ete™ — yhTh=h0n0

LHE 08B reports 3.54 & 0.10 & 0.43 & 0.18 % from a measurement of [M(xco(1P) —
7T 77 71070) /Torall X [B(#(25) = 7 xco(1P))] assuming B(¥(25) = vxco(1P)) =
(9.22+0.11 £ 0.46) x 10™2, which we rescale to our best value B(¥(2S) = vxo(1P))

=(9.79 £ 0.20) x 10~2. Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

Mp+n~ 7%+ c.c.)/Tiotal e/l
VALUE (%) EVTS DOCUMENT ID TECN COMMENT
2.9+0.440.1 13585 L2HE 088 CLEO ete™ — yhTh=hOn0

LHE 08B reports 3.04 + 0.18 £ 0.42 + 0.16 % from a measurement of [M(xco(1P) —
pta—x04 c.c)/Tiotall % [B@®(2S) —  vx.o(1P))] assuming B(¢(25) —
TXc0(1P)) = (9.22:&:0.11:|:0.46)><1072, which we rescale to our best value B(¢(2S) —

Txc0(1P)) = (9.79 £ 0.20) x 10~2. Our first error is their experiment's error and our
second error is the systematic error from using our best value.

2 Calculated by us. We have added the values from HE 08B for p+7r_ 70 and P 7t 70
decays assuming uncorrelated statistical and fully correlated systematic uncertainties.

I(47°) /Teotal M7/
VALUE (units 1073) EVTS DOCUMENT ID TECN COMMENT
3.3+0.4+0.1 3206  LABLIKIM  11a BES3 ete™ — ©(25) = vxeo

L ABLIKIM 114 reports (3.34£0.064+0.44) %1073 from a measurement of [M(xco(1P) —
47r0)/rtota|] x [B(¢(2S) — 'yxco(lP))] assuming B(y(2S) — 'yXCO(lP)) =(9.62+
0.31) x 102, which we rescale to our best value B(¥(2S) — vxco(1P)) = (9.79 £

0.20) x 1072, Our first error is their experiment’s error and our second error is the
systematic error from using our best value.

|'(7r+7r— Kt K—)/rtotal g/l
VALUE (units 10-3) DOCUMENT ID
18.1+1.4 OUR FIT
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r(K+K*(892)°7~ +cc)/M(rtn~ Kt K™) 30/l
VALUE DOCUMENT ID TECN COMMENT

0.41+0.09 OUR FIT

0.41+0.10 TANENBAUM 78 MRK1 (2S) — YXc0

I (K3(1430)°K}3(1430)° = 7t 7~ K+ K~) /Teotal o/l
VALUE (units 10_4) EVTS DOCUMENT ID TECN COMMENT

98%38+02 83 LABLIKIM 05Q BES2 w(2S) — yata— K+ K™

LABLIKIM 05Q reports (1044 + 237F739%) x 1074 from a measurement of

[M(xco(1P) — K§(1430)0KE(1430)0 — 7™ KT K™) /M) x [B((25) —
¥Xc(1P))] assuming B(4)(2S) — vx0(1P)) = (9.22 £ 0.11 & 0.46) x 1072, which

we rescale to our best value B(¢/(25) — vxo(1P)) = (9.79 £ 0.20) x 10=2. Our first
error is their experiment’s error and our second error is the systematic error from using
our best value.

I(K3(1430)°K3(1430)° + c.c. = ot 7~ K+ K™) [Tiotal Mo/l
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT
8072902 62 L1ABLIKIM 05Q BES2 w(25) — yata— K+ K™

L ABLIKIM 05Q reports (8.49+ 1.661_%‘33) %10~% from a measurement of [M(xco(1P) —
K3(1430)073(1430)0+ ce = 7t T KT KT) Tigrall X [B¥(2S) = vx0(1P))]
assuming B(¥(2S) — vx0(1P)) = (9.22 &+ 0.11 £ 0.46) x 102, which we rescale

to our best value B(1(25) — vxo(1P)) = (9.79 £ 0.20) x 102, Qur first error is
their experiment's error and our second error is the systematic error from using our best

value.
M(K1(1270)* K~ +c.c. =& mt 7~ K¥ K™) [Tiotal Ma/r
VALUE (units 10*3) EVTS DOCUMENT ID TECN COMMENT
6.3+1.940.1 68 1 ABLIKIM 05Q BES2 (25) = ynta KT K~

L ABLIKIM 05Q reports (6.66i1.31f%‘g?)><10_3 from a measurement of [["(x -q(1P) —
K1(1270) P K™+ cc. » atn7 KT KT) /Tioeall X [B(¥(2S) = 7xco(1P))] assum-
ing B(y(2S) — vxo(1P)) = (9.22 + 0.11 + 0.46) x 1072, which we rescale to our

best value B(¢(25) — ~x0(1P)) = (9.79 & 0.20) x 1072 Qur first error is their
experiment’s error and our second error is the systematic error from using our best value.
The measurement assumes B(K7(1270) — K p(770)) = 42 + 6%.

I'(K1(1400)+ K= +cc.—» nta— Kt K—)/I'tota| Mo/l
VALUE (units 103 CL% DOCUMENT ID TECN COMMENT
<2.7 90 1 ABLIKIM 05Q BES2 (2S) = ynta KT K~

LABLIKIM 05Q reports < 2.85 x 1073 from a measurement of Mxeo(1P) —
K (1400) T K=+ cc. & 7T a7 KT KT) /Tiorall X [B(#(2S) = vxo(1P))] as-
suming B(4(25) = vxco(1P)) = (9.22 + 0.11 + 0.46) x 10~2, which we rescale to
our best value B(1)(25) — 7vxo(1P)) = 9.79 x 1072, The measurement assumes
B(K{(1400) — K*(892)7) = 94 + 6%.

I (f5(980) f5(980)) /T total M3/l
VALUE (units 10_5) EVTS DOCUMENT ID TECN COMMENT
1621138303 28 1ABLIKIM 05Q BES2 w(2S) — ~yrta— Kt K~

LABLIKIM 05Q reports [M(xco(1P) —  £5(980)£5(980)) /Tiorall X [B(¥(2S) —
xc0(1P))] = (1.59:t0.501_8:§g)>< 102 which we divide by our best value B(1(25) —

YXxc0(1P)) = (9.79 £ 0.20) x 10~2. Our first error is their experiment's error and our
second error is the systematic error from using our best value. One of the f(980) mesons

is identified via decay to 7T 7~ while the other via KT K~ decay.

T (5(980) £(2200)) /Total M1a/T

VALUE (units 1074) EVTS DOCUMENT ID TECN  COMMENT

79%20102 77 LABLKIM  05Q BES2 ©(25) — ~yrtn— K+K—
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L ABLIKIM 05Q reports (8.42+ 1.421‘%'83) x10~# from a measurement of [M(xco(1P) —

15(980) £5(2200)) /Tiora]l X [B(®(2S) —  vxo(1P))] assuming B(4(2S) —
TXc0(1P)) = (9.22:&0.11:t0.46)x10_2, which we rescale to our best value B(¢(2S) —

rxc0(1P)) = (9.79 £ 0.20) x 10~2. Qur first error is their experiment's error and our
second error is the systematic error from using our best value. The fy mesons are iden-

tified via £5(980) — 7T 7~ and £(2200) - KT K~ decays.

I (fo(1370) f5(1370)) /Teotal M5/l
VALUE (units 10~4 CLY% DOCUMENT ID TECN COMMENT
<2.7 90 L ABLIKIM 05Q BES2 (25) - yrnta KT K~

LABLIKIM 05Q reports < 2.9 x 10~% from a measurement of Mxeco(1P) —
f5(1370) £5(1370)) /Tiotall x [B(¥(2S) —  vxo(1P))] assuming B(y(25) —
7xc0(1P)) =(9.22+£0.11£0.46) %1072, which we rescale to our best value B((25) —
TXxc0(1P)) =9.79x 1072, One of the f5(1370) mesons is identified via decay to i

while the other via KT K~ decay. Both branching fractions for these fy decays are im-
plicitly included in the quoted result.

I (f(1370) 5(1500)) /T sotal M6/l
VALUE (units 10’4) CL% DOCUMENT ID TECN COMMENT
<17 90 1 ABLIKIM 05Q BES2 (25) = ynta KT K~

LABLIKIM 05Q reports < 1.8 x 10~% from a measurement of [M(xco(1P) —
f(1370) f5(1500)) /Tiorall % [B(#(2S) —  vxco(1P))] assuming B(y(2S) —
rxc0(1P)) = (9.22:t0.11:|:0.46)><1072, which we rescale to our best value B(¢(2S) —
TXc0(1P)) = 9.79 x 1072, The fy mesons are identified via fy(1370) — 7t 7~ and

fy(1500) — Kt K~ decays. Both branching fractions for these fy decays are implicitly
included in the quoted result.

I (f5(1370) f5(1710)) /T eotal -
VALUE (units 104 EVTS DOCUMENT ID TECN  COMMENT
67133101 61 LABLIKIM  05Q BES2 (25) = ~yatn— K+ K-

L ABLIKIM 05Q reports (7.12 + 1.851'?'%2) %10~% from a measurement of [M(xco(1P) —

f(1370) ;y(1710)) /Tiorall % [B(#(25) —  vxco(1P))] assuming B(y(2S) —
TYxc0(1P)) = (9.22:i:0.11:|:0‘46)><10_2, which we rescale to our best value B(¢(2S) —

7Xxc0(1P)) = (9.79 £ 0.20) x 102, Our first error is their experiment's error and our
second error is the systematic error from using our best value. The fy mesons are identi-

fied via f5(1370) — T 7~ and fo(1710) — KT K~ decays. Both branching fractions
for these fy decays are implicitly included in the quoted result.

I (f5(1500) f(1370)) /T total Mg/l
VALUE (units 104 CLY% DOCUMENT ID TECN COMMENT
<13 90 1 ABLIKIM 05Q BES2 (2S) - yrnta KT K~

LABLIKIM 05Q reports < 1.4 x 1074 from a measurement of [I(xco(1P) —
f(1500) fy(1370)) /Tiorall % [B(#(25) —  vxco(1P))] assuming B(y(2S) —
7Xxc0(1P)) = (9.22+£0.11£0.46) %1072, which we rescale to our best value B(y(2S) —
TXxc0(1P)) = 9.79 x 1072, The fy mesons are identified via f3(1500) — aT 7~ and

f0(1370) - KtK— decays. Both branching fractions for these fy decays are implicitly
included in the quoted result.

I (fo(1500) f5(1500)) /T total l1o/T
VALUE (units 10~4 CL% DOCUMENT ID TECN COMMENT
<0.5 90 L ABLIKIM 05Q BES2 (25) = ynta KT K~

LABLIKIM 05Q reports < 0.55 x 10~4 from a measurement of M(xeo(1P) —
f5(1500) f3(1500)) /Tiotall x [B(¥(2S) —  vxo(1P))] assuming B(y(25) —
rxc0(1P)) =(9-22£0.11£0.46) %1072, which we rescale to our best value B(y(2S) —
¥Xco(1P)) = 9.79 x 10~2. One of the fy(1500) is identified via decay to a7~ while

the other via KT K— decay. Both branching fractions for these f decays are implicitly
included in the quoted result.
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I (f(1500) f5(1710)) /T total 20/T
VALUE (units 10*4) CL% DOCUMENT ID TECN COMMENT
<0.7 90 1 ABLIKIM 05Q BES2 (2S) = ynta~ KT K~

LABLIKIM 05Q reports < 0.73 x 104 from a measurement of Mxco(1P) —
f(1500) fy(1710)) /Tiorall % [B(#(2S) —  vxco(1P))] assuming B(y(2S) —
TXc0(1P)) = (9.22:!:0.11:|:0.46)><10*2, which we rescale to our best value B(¢(2S) —
TXc0(1P)) = 9.79 x 1072, The fy mesons are identified via fy(1500) — 7t 7~ and

fo(1710) — KT K= decays. Both branching fractions for these fy decays are implicitly
included in the quoted result.

MK+t K=ot 7~ 79) /Tiotal o1/l

VALUE (units 10_3) EVTS DOCUMENT ID TECN COMMENT

8.61+0.13+0.94 9.0k 1 ABLIKIM 138 BES3 efTe™ — 4(25) = vxgo
L Using 1.06 x 108 ¢(2S) mesons and B(¥(25) — xc7) = (9.68 £ 0.31)%.

M(KYKEnFatn~) /Meotal /T

VALUE (units 10’3) EVTS DOCUMENT ID TECN COMMENT

4.2240.10+0.43 2.7k L ABLIKIM 138 BES3 efTe™ — 4(25) = vxgo
1 Using 1.06 x 108 ¥%(2S) mesons and B(1(2S) — xg97) = (9.68 £ 0.31)%.

M(K+ K= 797°) /Total 23/l

VALUE (%) EVTS DOCUMENT ID TECN COMMENT

0.56+0.09+0.01 2135 THe 088 CLEO ete™ — yhTh=h0h0

1 HE 088 reports 0.59 + 0.05 + 0.08 + 0.03 % from a measurement of [M(xco(1P) —
Kt K= 7970) /Tiorall X [B((25) = vxco(1P))] assuming B((2S) = vxco(1P))
= (9.22 + 0.11 £ 0.46) x 10~2, which we rescale to our best value B(y(2S) —

Txc0(1P)) = (9.79 £ 0.20) x 10~2. Our first error is their experiment’s error and
our second error is the systematic error from using our best value.

MKt o~ K°n%+ c.c.) /Tiotal M2/l
VALUE (%) EVTS DOCUMENT ID TECN COMMENT
2.49+0.33+0.05  401.7 THE 088 CLEO ete™ — yhTh= hOH0

LHE 08B reports 2.64 + 0.15 = 0.31 & 0.14 % from a measurement of [M(xco(1P) —
KT~ KO0t cc)/Miorall X [B@(2S) =  vxo(1P))] assuming B(4(2S) —
rxc0(1P)) = (9.22:t0.11:l:0.46)><10*2, which we rescale to our best value B(¢(2S) —

Txc0(1P)) = (9.79 £ 0.20) x 10~2. Our first error is their experiment's error and our
second error is the systematic error from using our best value.

F(p+ K~ KO + c.c.)/rtom r25/r
VALUE (%) EVTS DOCUMENT ID TECN COMMENT
1.214+0.21+0.02  179.7 THE 088 CLEO ete™ — yhTh hOn0

1 HE 08B reports 1.28 & 0.16 & 0.15 & 0.07 % from a measurement of [M(xco(1P) —
pt K= KO+ cc)/Tiotall X [B(®(2S) —  vx,o(1P))] assuming B(y(2S) —
TXc0(1P)) = (9.22:!:0.11:|:0.46)><10*2, which we rescale to our best value B(¢(2S) —

Txc0(1P)) = (9.79 £ 0.20) x 10~2. Our first error is their experiment's error and our
second error is the systematic error from using our best value.

r(Kk*(892)~ K* 7% = K+n~K°7%+ c.c.) /Ttotal 26/l
VALUE (%) EVTS DOCUMENT ID TECN COMMENT
0.46+0.12+0.01 64.1 THE 088 CLEO ete™ — yhTh hOn0

1 HE 08B reports 0.49 & 0.10 & 0.07 & 0.03 % from a measurement of [M(xco(1P) —
Kk*(892)" KT 70 — KT~ K970+ cc.)/Tioral] X [B®(2S) = vxco(1P))] as-
suming B(4(25) = vxco(1P)) = (9.22 £ 0.11 + 0.46) x 102, which we rescale to

our best value B(¥(2S) — vx(1P)) = (9.79 & 0.20) x 10~2. Our first error is their
experiment’s error and our second error is the systematic error from using our best value.

M(KEKLm+ 7)) [Miotal F27/T
VALUE (units 10_3) EVTS DOCUMENT ID TECN  COMMENT
5.7+1.040.1 152 + 14 L ABLIKIM 050 BES2  %(2S) = Yx0

LABLIKIM 050 reports [[(xcg(1P) — KEKLrt ) /o] x [B((2S) —
¥Xc0(1P))] = (0.558 £ 0.051 £ 0.089) x 10~3 which we divide by our best value

B(1(2S) — vxco(1P)) = (9.79 £ 0.20) x 102, Our first error is their experiment’s
error and our second error is the systematic error from using our best value.
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M (Kt K= 97°) /Teotal l2s/l
VALUE (%) EVTS DOCUMENT ID TECN COMMENT
0.30+0.07+0.01 56.4 THE 088 CLEO ete™ — yhTh=hOn0

1 HE 08B reports 0.32 & 0.05 & 0.05 & 0.02 % from a measurement of [M(xco(1P) —
Kt K_nrro)/rtota” x [B(y(2S) — ’YXC()(lp))] assuming B(¢(2S) — 'yXCO(lP)) =
(9.22£0.11 £0.46) x 10~2, which we rescale to our best value B((2S5) = vx0(1P))

= (9.79 £ 0.20) x 10~2. Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

F3(m*77)) /Tiotal F29/T
VALUE (units 1073) DOCUMENT ID TECN COMMENT

12.01+1.8 OUR EVALUATION Treating systematic error as correlated.

12.0+1.7 OUR AVERAGE

11.7+1.041.9 1 BAl 998 BES  ¥(25) = vxXco
12.542.940.5 1 TANENBAUM 78 MRK1 %(25) = vxco

LRescaled by us using B(1(25) — YXc0)= (94 £ 04)% and B(y(2S) —
J/9p(18)7T 7)) = (32.6 & 0.5)%.

(Kt K*(892)° 7~ +c.c.) /Tiotal 30/l
VALUE DOCUMENT ID

0.0075+0.0016 OUR FIT

I (K*(892)°K*(892)%) /Tiotal 31/
VALUE (units 1073) EVTS DOCUMENT ID TECN COMMENT

1721090 +0.04 64 LABLIKIM  05Q BES2 (25) — yntn— KT K™

e e o We do not use the following data for averages, fits, limits, etc. e o @
1.564+0.404£0.03 30+ 6 23 ABLIKIM 04H BES Repl. by ABLIKIM 05Q
LABLIKIM 05Q reports [I'(xqq(1P) — K*(892)0K*(892)0) /Tora] X [B(#(2S) —

Yxco(1P)] = (0.168 + 00357 0-037) x 1073 which we divide by our best value

B(1(2S) — vx0(1P)) = (9.79 £ 0.20) x 10~2. OQur first error is their experiment's
error and our second error is the systematic error from using our best value.

2 Assumes B(K*(892)0 — K~ nt) = 2/3.
3ABLIKIM 04H reports [[(xco(1P) — K*(892)0K*(892)0)/Tioral]l % [B(4(25) —
X co(1P))] = (1.5340.29 4 0.26) x 10~ # which we divide by our best value B(1(25) —

Txc0(1P)) = (9.79 £ 0.20) x 10~2. Our first error is their experiment's error and our
second error is the systematic error from using our best value.

M(77)/Total 32/l
VALUE (units 10~3) DOCUMENT ID
8.511+0.33 OUR FIT

0
I(7%n¢) /Ttotal M3s/I
VALUE CL% DOCUMENT ID TECN COMMENT
<1.6x10~3 90 1 ABLIKIM 15N BES3 4(2s)ete™ — v70n,

Lusing B(n. - KL KErT)xB(KE — 777 )xB(n0 - v4) = (1.6640.11)x 1072,

I (nm) /Teotal 36/l

VALUE (units 10~3) DOCUMENT ID
3.01+0.19 OUR FIT

I (nn)/T (x~) l36/M32
VALUE DOCUMENT ID TECN COMMENT
0.353+0.025 OUR FIT

e o o \We do not use the following data for averages, fits, limits, etc. e o @

0.26 +0.09 *9-03 L ANDREOTTI 05C E835 Fp — 2 mesons

0.24 +0.10 +0.08 LAl 03c BES  (25) — 5y

1 We have multiplied 7070 measurement by 3 to obtain 7.
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r(’)"l’)/ ltotal r37/ r

VALUE (units 1075) CL% EVTS DOCUMENT ID TECN COMMENT
9.1+1.140.2 85 L ABLIKIM 17A1 BES3  4(2S) — ~vn'n

e o o We do not use the following data for averages, fits, limits, etc. e o @

<24 90 354+ 13 2 ASNER 09 CLEO (25) — ~n'n

<50 90 3 ADAMS 07 CLEO #(2S) — vx¢o

L ABLIKIM 17AI reports (8.92£0.84+0.65) x 102 from a measurement of [I"(xcq(1P) —
n1') /Tiotall X [B(¥(25) = 7xco(LP))] assuming B(¢(25) = 7xo(LP)) = (9.99 +
0.27) x 102, which we rescale to our best value B(¥(2S) — vxc0(1P)) = (9.79 £

0.20) x 10=2. Our first error is their experiment’s error and our second error is the
systematic error from using our best value.

2 ASNER 09 reports < 0.25 x 10~3 from a measurement of M (xco(IP) = 17") /Tiotall
% [B(1(25) = 7xco(1P))] assuming B(:(25) — 7¥xco(1P)) = (9.2240.11 +£0.46) x

102, which we rescale to our best value B(¥(25) — vx0(1P)) = 9.79 x 102,

3Superseded by ASNER 09. ADAMS 07 reports < 0.5 x 10~3 from a measurement
of [Mxco(IP) = n7')/Tiorall X [B(#(2S) = vx(1P))] assuming B(1(2S) —
Txc0(1P)) = (9.22i0.11i0.46)><10*2, which we rescale to our best value B(¢(2S) —
Yxco(1P)) = 9.79 x 10 2.

F (' 7') /Teotal Mg/l
VALUE (units 10*3) EVTS DOCUMENT ID TECN COMMENT
2.17+0.12 OUR AVERAGE

2.23+0.13+0.05 2.5k L ABLIKIM 17A1 BES3  4(25) — ~n'7/
2.004:0.214-0.04 0.4k 2 ASNER 09 CLEO (2S) = ~n'v/

e o o We do not use the following data for averages, fits, limits, etc. @ o @
1.6040.41+0.03 23 3 ADAMS 07 CLEO %(25) = X0

L ABLIKIM 17AI reports (2.19+0.0340.14) x 103 from a measurement of [M(xco(1P) —
1) [Teotal] % [B($(25) = vxc(1P))] assuming B(4(25) = vxco(1P)) = (9.99+
0.27) x 10™2, which we rescale to our best value B(¥(2S) — vxc0(1P)) = (9.79 £
0.20) x 10=2. Our first error is their experiment’s error and our second error is the
systematic error from using our best value.

2 ASNER 09 reports (2.12 + 0.13 + 0.21) x 10~3 from a measurement of [I"(xco(1P) —
') /Teotall X [B(¥(2S) = vx0(1P))] assuming B((2S) = vxo(1P)) = (9.22+
0.11 + 0.46) x 102, which we rescale to our best value B(¥(2S) = vxco(1P)) =
(9.79 £ 0.20) x 102, Our first error is their experiment’s error and our second error is
the systematic error from using our best value.

3Superseded by ASNER 09. ADAMS 07 reports (1.7 £ 0.4 & 0.2) x 10~3 from a
measurement of [(x.q(1P) — 70 /Tiotall X [B(¥(2S) — 7Xc0(1P))] assum-
ing B(¢(2S) — vxo(1P)) = 0.0922 £ 0.0011 £ 0.0046, which we rescale to our

best value B(¢(25) — ~vxo(1P)) = (9.79 £ 0.20) x 10=2. Qur first error is their
experiment’s error and our second error is the systematic error from using our best value.

r(ww)/rm| M3/l
VALUE (units 10~3) EVTS DOCUMENT ID TECN  COMMENT

0.9740.11 OUR AVERAGE

0.934+0.114+0.02 991 1 ABLIKIM 11K BES3  #(2S) — ~ hadrons
2.16+0.66+0.04 38.1+£9.6  2ABLIKIM 05N BES2  (2S) — vxco — 767

1 ABLIKIM 11K reports (0.95i0.03i0.11)><10*3 from a measurement of [["(x -q(1P) —
ww) /Tiotall X [B(1(25) = vxo(1P))] assuming B(1/(25) = vx(1P)) = (9.62 +
0.31) x 102, which we rescale to our best value B(¥(2S) — vxc0(1P)) = (9.79 £
0.20) x 10=2. Our first error is their experiment'’s error and our second error is the
systematic error from using our best value.

2 ABLIKIM 05N reports [[(x.g(1P) = ww)/Tigiall X [B(¥(25) = ~vx0(1P))] =
(0.212 + 0.053 + 0.037) X 10~3 which we divide by our best value B((2S) —

rxc0(1P)) = (9-79 £ 0.20) x 10~2. Our first error is their experiment’s error and
our second error is the systematic error from using our best value.

M (wo)/Tiotal Fa0/T
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT
1.4140.130.03 486 LABLIKIM  19) BES3 (25) — ~ hadrons

e o o We do not use the following data for averages, fits, limits, etc. ® o @
1.18£0.2240.02 76 23 ABLIKIM 11k BES3 (25) — ~ hadrons
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LABLIKIM 195 reports [ (xco(1P) — wo)/Tiorall X [B®(2S) = vxco(1P))] =
(13.83+0.70 £1.01) x 10~© which we divide by our best value B(¥(2S) = vx0(1P))
= (9.79 £ 0.20) x 1072, Our first error is their experiment's error and our second error
is the systematic error from using our best value.

2 ABLIKIM 11K reports (1.2 £ 0.1 + 0.2) x 10~% from a measurement of [F(xco(1P) —
qu)/rtota,] x [B(y(2S) — 7XC0(1P))] assuming B(9(2S) — 'yxco(lP)) =(9.62 £
0.31) x 102, which we rescale to our best value B(¥(2S) — vxo(1P)) = (9.79 £
0.20) x 1072, Our first error is their experiment’s error and our second error is the
systematic error from using our best value.

3 Superseded by ABLIKIM 19J.

MwK* K™)/Total Fa1/T
VALUE (units 10*3) EVTS DOCUMENT ID TECN COMMENT
1.94+0.06+0.20 1.4k 1 ABLIKIM 138 BES3 ete™ — 4(25) = vxco

L Using 1.06 x 108 4(25) mesons and B(4(25) — Xc07) = (9.68 £ 0.31)%.
F(K*K™)/Ttotal a2/
VALUE (units 10-3) DOCUMENT ID
6.05+0.31 OUR FIT
M(KYK2)/TMiotal a3/l
VALUE (units 10-3) DOCUMENT ID
3.16+0.17 OUR FIT

0 40

F(K3K3)/T () Fa3/T32
VALUE DOCUMENT ID TECN COMMENT

0.37110.023 OUR FIT

e o o We do not use the following data for averages, fits, limits, etc. @ o @
0.31 +0.05 +0.05 1,2 CHEN 078 BELL eTe™ — eTe xg

1 Using F(7r7r) X r(w)/rtotal from the 7 7~ measurement of NAKAZAWA 05 rescaled
by 3/2 to convert to 7.

2 Not independent from other measurements.

M(KYK2)/T(KTK™) l43/Ta2

VALUE DOCUMENT ID TECN  COMMENT

0.5210.04 OUR FIT

e o o We do not use the following data for averages, fits, limits, etc. ® o @
0.49+0.0740.08 L2 cHEN 078 BELL eTe™ — eTe xg

1 Using I'(K+ K™) x T(v7)/Ttota) from NAKAZAWA 05.
2 Not independent from other measurements.

I(x* 7~ 1) /Tiotal Taa/T
VALUE (units 10_3) CL% DOCUMENT ID TECN COMMENT

<0.20 920 1 ATHAR 07 CLEO (2S) — ~ht A O

e o o We do not use the following data for averages, fits, limits, etc. o @

<1.0 90 2 ABLIKIM 06rR BES2 %(2S5) — vxc0

L ATHAR 07 reports < 0.21 x 10~3 from a measurement of [M(xco(1P) — rtr— n)/
Miotall X [B(¥(2S) — vxo(1P))] assuming B(1)(2S) — ~vx(1P)) = (9.22 +
0.11 + 0.46) x 102, which we rescale to our best value B(¥(2S) = vxo(1P)) =
9.79 x 1072,

2 ABLIKIM 06R reports < 1.1 x 103 from a measurement of [M(xco(1P) — atr— n)/
Miotall X [B(¥(2S) = vxo(1P))] assuming B(1)(25) — vxo(1P)) = (9.2 0.4) x
10~2, which we rescale to our best value B(¥(25) — vxo(1P)) = 9.79 x 102,

F(#t 7~ n) /Teotal Fas/T
VALUE (units 10_3) CL% DOCUMENT ID TECN COMMENT
<0.4 90 L ATHAR 07 CLEO (2S) » ~vhT A= hO

L ATHAR 07 reports < 0.38 x 10~3 from a measurement of [Mxeo(1P) — 7T a=7)/
rtota|] x [B(¥(2S) — ’yxco(lP))] assuming B(y(2S) — 'yXCO(lP)) = (9.22 +
0.11 4+ 0.46) x 102, which we rescale to our best value B((2S) = vxo(1P)) =
9.79 x 102,
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F(KOK+ 7~ +c.c.) /Trotal Fag/T
VALUE (units 1073) CL% DOCUMENT ID TECN COMMENT

<0.09 90 L ATHAR 07 CLEO (2S) —» ~hTh—hO
e o o \We do not use the following data for averages, fits, limits, etc. e o @

<0.7 90 23 ABLIKIM 06R BES2 (25) = vXxco

<0.7 90  34Bal 998 BES  4(25) = vxco

L ATHAR 07 reports < 0.10 x 10~3 from a measurement of [I'(xc(1P) = KOKt =~ +
c.c.)/Tiotall ¥ [B(¥(2S) = vxo(1P))] assuming B(¢(25) — vx(1P)) = (9.22 +
0.11 + 0.46) x 102, which we rescale to our best value B(¥(2S) = vxco(1P)) =

9.79 x 1072,
2ABLIKIM 06R reports < 0.70 x 1073 from a measurement of [M(xco(1P) —

KOKT 77+ cc)/Tiorall X [B((2S) —  vxco(1P))] assuming B(4(2S) —
Xxc0(1P)) = (9.2 £ 0.4) x 1072, which we rescale to our best value B(y(2S) —
Yxco(1P)) = 9.79 x 10 2.

3We have multiplied the K% Kt 7~ measurement by a factor of 2 to convert to
KOKktn—.

4Rescaled by us using B(¢(25) — YXc0)= (94 £ 0.4)% and B(¥(2S) —
J/9p(18)n T 77) = (32.6 £ 0.5)%.

M(K* K= 7°) /Tiotal Ta7/T
VALUE (units 10_3) CL% DOCUMENT ID TECN COMMENT
<0.06 90 L ATHAR 07 CLEO (2S) — ~hTh—h0

L ATHAR 07 reports < 0.06 x 10~3 from a measurement of [M(xco(1P) = KT K™ 7r0)/
rtota|] x [B(¥(2S) — "/XCO(]'P))] assuming B(y(25) — ’YXC()(]-P)) =(9.22+0.11+

0.46) x 102, which we rescale to our best value B((2S) = vxo(1P)) =9.79% 1072,

F(K* K~ 1) /Teotal Tag/T
VALUE (units 1073) CL% DOCUMENT ID TECN COMMENT
<0.23 90 L ATHAR 07 CLEO (2S) » ~hTh—#O

L ATHAR 07 reports < 0.24 x 10~3 from a measurement of [M(xeo(1P) = KT K—n)/
rtotall x [B(¥(2S) — 'yXCO(lP))] assuming B(9(2S) — 'yXCO(lP)) = (9.22 +
0.11 + 0.46) x 102, which we rescale to our best value B(¥(25) = vxo(1P)) =
9.79 x 1072,

M(K* K~ KYKY)/Tiotal Tao/T
VALUE (units 10_3) EVTS DOCUMENT ID TECN COMMENT
1.41+0.47+0.03 16.8+4.8 1 ABLIKIM 050 BES2  9(25) — vx¢o

LABLIKIM 050 reports [[(xco(1P) — KTKTKLKL)/Tiga]l x [B(¥(2S) —
rxc0(1P))] = (0.138 &+ 0.039 + 0.025) x 10~3 which we divide by our best value

B((2S) — vx0(1P)) = (9.79 £ 0.20) x 10~2. Our first error is their experiment’s
error and our second error is the systematic error from using our best value.

F(K3KGKSKS)/Meotal Mso/T
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT
5.840.5+0.1 319 1ABLIKIM 19AA BES3  9(25) — v4KY

Lusing B(KS — 7t 77) = (69.20 + 0.05)%. ABLIKIM 19aA reports [ (xo(1P) —
KL KL KL KD) /Miorall X [B¥(2S) = vx0(1P))] = (5.64 + 0.33 & 0.37) x 1075
which we divide by our best value B(¥(2S) — ~vxg(1P)) = (9-79 £ 0.20) x 1072,
Our first error is their experiment's error and our second error is the systematic error
from using our best value..

MK+ K=Kt K™) [Tiotal M1/l
VALUE (units 10-3) DOCUMENT ID

2.82+0.29 OUR FIT

M(K* K~ ) /Ttotal M52/l
VALUE (units 10_3) EVTS DOCUMENT ID TECN  COMMENT
0.97+0.25+0.02 38 1 ABLIKIM 06T BES2 (25) — 2Kt 2K~

L ABLIKIM 06T reports (1.03+0.22+0.15) x 103 from a measurement of [I"(x ¢ (1P) —
KT K™ 6)/Tiotall X [B((25) = 7xco(1P))] assuming B(4(2S) = vxo(1P)) =
(9.2 + 0.4) x 10~2, which we rescale to our best value B(¥(2S) = vxco(1P)) =

(9.79 £+ 0.20) x 102, Our first error is their experiment’s error and our second error is
the systematic error from using our best value.
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F(KOK* 7~ ¢+ c.c.) /Tiotal Ms3/T

VALUE (units 1073) DOCUMENT ID TECN COMMENT

3.68+0.300.50 ABLIKIM 15M BES3  4(25) — vxco

MKt K~ 7%9) /Ttotal Is4/T

VALUE (units 1073) DOCUMENT ID TECN COMMENT

1.90-:0.14+0.32 ABLIKIM 15M BES3  4(25) — vxco

ek 1r°) /Total Iss/T

VALUE (units 1073) EVTS DOCUMENT ID TECN COMMENT

1.1840.074+0.13 538 1 ABLIKIM 138 BES3 ete™ — 4(25) > vxe0
1 Using 1.06 x 108 1(25) mesons and B(1:(25) = x07) = (9.68 = 0.31)%.

M(¢9)/Tiotal Mse/T

VALUE (units 10~3) DOCUMENT ID

0.80+0.07 OUR FIT

M (¢¢n)/Ttotal 7/l

VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT

8.4+0.7+0.6 186.6 L ABLIKIM 208 BES3 (25) — ~dén

1 ABLIKIM 208 reports (8.41+0.74+0.62) x10~% from a measurement of [M(xco(1P) —
$6n)/Tiotall * [B(1(25) = ¥x(1P))] assuming B(4(25) = vxo(1P)) = (9.79+
0.20) x 10~2.

I (pP)/Ttotal Mss/T
VALUE (units 104 DOCUMENT ID

2.2110.08 OUR FIT

I (pP7°)/Teotal lso/T
VALUE (units 10-3) DOCUMENT ID TECN  COMMENT

0.7040.07 OUR AVERAGE Error includes scale factor of 1.3.

0.7340.06+0.01 L oNYiISI 10 CLE3 #(2S) — ~vppX
0.56+0.1240.01 2 ATHAR 07 CLEO (2S) — ~hTh—hO

LONYISI 10 reports (7.76 + 0.37 + 0.51 =+ 0.39) x 10~%4 from a measurement of
[F(XCO(IP) — pﬁﬂo)/rtota” x [B(¥(25) — ’YXC()(LD))] assuming B(y(2S) —
Txc0(1P)) = (9.22:t0.11:t0.46)x10_2, which we rescale to our best value B(¢(2S) —

7xc0(1P)) = (9.79 £ 0.20) x 102, Our first error is their experiment's error and our
second error is the systematic error from using our best value.

2 ATHAR 07 reports (0.59 £ 0.10 £ 0.08) x 10~3 from a measurement of [M(xco(1P) —
pp70) [Teorall ¥ [B(H(25) = 7vxco(1P))] assuming B(Y(25) — 7xco(1P)) =
(9.22+0.11 £ 0.46) x 10~2, which we rescale to our best value B(¥(2S) = vxo(1P))

= (9.79 £ 0.20) x 10~2. Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

[ (pPn)/Ttotal Feo/T
VALUE (units 1073) DOCUMENT ID TECN COMMENT

0.35+0.04 OUR AVERAGE

0.3540.0440.01 1 oNyisl 10 CLE3 4(2S) —» ~vppX
0.3740.1140.01 2 ATHAR 07 CLEO (2S) — ~hTh— hO

LONYISI 10 reports (3.73 + 0.38 + 0.28 + 0.19) x 10~%4 from a measurement of
[M(xco(1P) = pPN)/Tiotall * [B(¥(2S) — vxco(1P))] assuming B(y(25) —
TXc0(1P)) = (9.22:&:0.11:|:0.46)><1072, which we rescale to our best value B(¢(2S) —
Txc0(1P)) = (9.79 £ 0.20) x 10~2. Our first error is their experiment's error and our
second error is the systematic error from using our best value.

2 ATHAR 07 reports (0.39 £ 0.11 £+ 0.04) x 10~3 from a measurement of [M(xco(1P) —
PP1)/Tiotall X [B(¥(2S) = vxc0(1P))] assuming B(¥(2S) — vxo(1P)) = (9.22+
0.11 + 0.46) x 102, which we rescale to our best value B(4(2S) = vxco(1P)) =

(9.79 £ 0.20) x 10=2. Our first error is their experiment’s error and our second error is
the systematic error from using our best value.
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I (pPw)/Ttotal M1/l
VALUE (units 1073) DOCUMENT ID TECN COMMENT
0.52+0.06+0.01 1 onvisl 10 CLE3 (2S) —» ~vppX

LONYISI 10 reports (5.57 + 0.48 + 0.42 + 0.14) x 10~%4 from a measurement of
[r(xco(lP) — pﬁw)/rtotal] x [B((2S) — 'yxco(lP))] assuming B(¢(2S) —
TXc0(1P)) = (9.22:&0.11:&0.46)x10_2, which we rescale to our best value B(¢(2S) —

rxc0(1P)) = (9.79 £ 0.20) x 102, Our first error is their experiment's error and our
second error is the systematic error from using our best value.

F(PP®)/Miotal le2/T
VALUE (units 1075) EVTS DOCUMENT ID TECN COMMENT
6.0+1.440.1 22+8  LABLKIM  11F BES3 u(25) — yppK+K—

L ABLIKIM 11F reports (6.12+1.18 +0.86) x 10> from a measurement of [ (x ¢ (1P) —
PB®)/Tiotall X [B(¥(2S) = vxo(1P))] assuming B(¢(2S) — vxo(1P)) = (9.62+
0.31) x 102, which we rescale to our best value B(¥(2S) — vxco(1P)) = (9.79 £

0.20) x 1072, Our first error is their experiment’s error and our second error is the
systematic error from using our best value.

r (P5W+ 7"_) /Ttotal 63/l
VALUE (units 1073) DOCUMENT ID TECN COMMENT

2.1 £0.7 OUR EVALUATION Error includes scale factor of 1.4. Treating systematic
error as correlated.

2.1 £1.0 OUR AVERAGE Error includes scale factor of 2.0.
1.5740.2140.53 1Al 998 BES  (25) > vXco
4.20+1.15+0.18 1 TANENBAUM 78 MRK1 $(25) > vxco

1 Rescaled by us using B(¥(2S) —  vxco)= (94 £ 04)% and B(¥(2S) —
J/p(1S)nT77) = (32.6 £ 0.5)%.

I (pp7°70) /Teotal lea/T
VALUE (%) EVTS DOCUMENT ID TECN COMMENT
0.104+0.028+0.002 39.5 1HE 088 CLEO ete™ — ~hTh™ HORO

L HE 08B reports 0.11 & 0.02 & 0.02 & 0.01 % from a measurement of [M(xco(1P) —
ppr070) /Tiorall * [B(1(25) = vxc0(1P))] assuming B(1(25) — vx0(1P)) =
(9.22+0.11 £ 0.46) x 10™2, which we rescale to our best value B(¥(2S) = vxo(1P))

= (9.79 £ 0.20) x 10~2. Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

F(ppK* K~ (non-resonant)) /Ttotal les/T
VALUE (units 1074) EVTS DOCUMENT ID TECN  COMMENT
1.2240.264-0.02 48 + 8 1 ABLIKIM 11F BES3 ¢(2S) = ~vyppK+t K~
L ABLIKIM 11F reports (1.24+£0.204+0.18) x 10~# from a measurement of [M(xco(1P) —
pPKT K~ (non-resonant)) /Tioiail X [B(¥(25) = vx(1P))] assuming B(1/(2S) —
TXxc0(1P)) = (9-62 & 0.31) x 102, which we rescale to our best value B((2S) —

7xc0(1P)) = (9.79 £ 0.20) x 102, Our first error is their experiment's error and our
second error is the systematic error from using our best value.

F(pPKSKS)/Teotal Fe6/T

VALUE (units 1074) CL% DOCUMENT ID TECN COMMENT

<8.8 90 L ABLIKIM 06D BES2 (2S) = X7
Lusing B(¥(2S) = xc07) = (9.2 + 0.5)%

I(P7i7™)/Teotal Fe7/T

VALUE (units 10_4) EVTS DOCUMENT ID TECN COMMENT

12.7+1.1 OUR AVERAGE

12.9+1.14+0.3 5150 1 ABLIKIM 12) BES3 (2S) — ~pAn—

11.243.140.2 2 ABLIKIM 061 BES2 (25) — ypr— X

L ABLIKIM 12 reports [M(xcg(IP) = pAT ™) /Tigtall X [B(¥(2S) = vxo(1P))] =
(1.26 + 0.02 + 0.11) x 10~% which we divide by our best value B(1(25) — ~vXo(1P))

= (9.79 £ 0.20) x 10=2. Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

2 ABLIKIM 061 reports [M(xco(1P) = pAm ™) /Tigtall X [B(2S) = vxo(1P))] =
(1.10 £ 0.24 £ 0.18) x 10~% which we divide by our best value B(1(2S) — vXxc0(1P))

=(9.79 £ 0.20) x 102, Our first error is their experiment’s error and our second error
is the systematic error from using our best value.
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F(pnnt)/Tiotal s/l
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT
13.7+1.240.3 5808 1 ABLIKIM 12 BES3 #(2S) — ~pnxt

L ABLIKIM 12J reports [r(xco(lP) — ﬁn7r+)/rtota|] x [B(¥(2S) — WXco(lp))] =
(1.34 £ 0.03 + 0.11) x 10~% which we divide by our best value B(1(25) — ~vxo(1P))

= (9.79 £ 0.20) x 102, Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

I (pfin~ 70) /Meotal leo/l
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT
23.4+2.04+0.5 2480 1 ABLIKIM 12) BES3 #(2S) — ~ypar— a0

L ABLIKIM 123 reports [ (xo(1P) = p7im™ 70) /Tyorall X [B(¥(2S) = vxco(1P))] =
(2.29 + 0.08 4 0.18) x 10~% which we divide by our best value B(4/(25) = 7 xo(1P))

= (9.79 £ 0.20) x 102, Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

F(pnm* 7°) /Tiotal F70/T
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT
22.1+1.840.5 2757 1 ABLIKIM 12) BES3 #(2S) — ~ypnrT a0

L ABLIKIM 125 reports [ (xo(1P) = Bt 70) /Miorall X [B(#(2S) = vxo(1P))] =
(2.16 +0.07 + 0.16) x 10~# which we divide by our best value B((2S) = vxco(1P))

= (9.79 £ 0.20) x 102, Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

I'(AM/I'tow r71/r
VALUE (units 1074) DOCUMENT ID
3.274+0.24 OUR FIT

M (AA7+ 77) [Tiotal 72/T
VALUE (units 10_5) CL% EVTS DOCUMENT ID TECN COMMENT
118+12+2 426 L ABLIKIM 120 BES3 (2S) - yAAmnTz—

e o o We do not use the following data for averages, fits, limits, etc. e o @
<400 90 2 ABLIKIM 060 BES2 (2S) = X7
L ABLIKIM 121 reports (119.0£6.4+11.4)x 105 from a measurement of [M(xco(1P) —
AAnTt 77) /Tiotall X [B(¥(25) = vxo(1P))] assuming B(1/(2S) — vxo(1P)) =
(9.68 £+ 0.31) x 1072, which we rescale to our best value B(¥(2S) — vxo(1P)) =

(9.79 £ 0.20) x 102, Our first error is their experiment’s error and our second error is
the systematic error from using our best value.
2Using B(¥(25) — xc07) = (9.2 £ 0.5)%

I (AA7* 7~ (non-resonant)) /T iotal F73/T
VALUE (units 1075) CL% DOCUMENT ID TECN COMMENT
<50 90 1 ABLIKIM 121 BES3 (25) - yAAxTx—

LABLIKIM 121 reports < 54 x 107> from a measurement of [M(xco(1P) —
At o™ (non-resonant)) /Fyorall X [B(1(2S) = vxco(1P))] assuming B(¥(25) —
7Xxc0(1P)) = (9.68 &+ 0.31) x 102, which we rescale to our best value B(y(2S) —
YXco(1P)) = 9.79 x 1072,

M(X(1385)* Ar~ +c.c.) /Tiotal 74/T
VALUE (units 10*5) CL% DOCUMENT ID TECN COMMENT
<50 90 1 ABLIKIM 121 BES3 ¢(25) — yX(1385) T An—

LABLIKIM 121 reports < 55 x 107> from a measurement of [M(xco(1P) —
>(1385) T Axn— + c.c.)/Tiotall X [B(¥(25) = ~x(1P))] assuming B((2S) —
¥Xco(1P)) = (9.68 £+ 0.31) x 102, which we rescale to our best value B(¢(2S) —
YXco(1P)) = 9.79 x 1072,

r(X(1385)~ Ant +c.c.) /Tiotal 75/l
VALUE (units 10*5) CL% DOCUMENT ID TECN COMMENT
<50 90 1 ABLIKIM 121 BES3 ¢(2S) — ~X(1385)" AxnT

LABLIKIM 121 reports < 50 x 107> from a measurement of [M(xco(1P) —
>(1385) " An T + c.c.)/Tiotall X [B(¥(25) = ~x(1P))] assuming B((25) —
rXxc0(1P)) = (9.68 &+ 0.31) x 102, which we rescale to our best value B(y(2S) —
Yxco(1P)) = 9.79 x 102,
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F(K+ﬁ/|+ C.C.)/rtota| r76/r
VALUE (units 1073) EVTS DOCUMENT ID TECN COMMENT

1.2540.12 OUR AVERAGE Error includes scale factor of 1.3.

1.30+0.0940.03 ok L2 ABLIKIM 13D BES3 %(2S) — yApK™T
1.0140.1940.02 3 ATHAR 07 CLEO (2S) — ~hTh— hO

L ABLIKIM 13D reports (1.32+0.03+0.10) x 103 from a measurement of [["(x ¢ (1P) —
KTpA+ c.c.)/Tiotall X [B(¥(25) = vx0(1P))] assuming B(1/(25) — vxo(1P))
= (9.68 £ 0.31) x 1072, which we rescale to our best value B(4(25) — vxco(1P))

= (9.79 £ 0.20) x 102, Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

2 Using B(A — pr~) = 63.9%.

3 ATHAR 07 reports (1.07£0.17 £ 0.12) x 10~3 from a measurement of [M(xco(1P) —
KtpA+ c.c.)/Tiotall X [B(4(2S) = vx0(1P))] assuming B(¥(25) = vxo(1P)) =
(9.22+0.11 £0.46) x 1072, which we rescale to our best value B((2S) = vx0(1P))

= (9.79 £ 0.20) x 10~2. Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

M(K*(892)* BA+c.c.)/Teotal F7z/T
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT
4.8+0.9+0.1 254 1 ABLIKIM 19AU BES3  (2S) — vK*TpA

L ABLIKIM 19AU reports [M(xco(1P) — K*(892)1 pA+ c.c.)/Tiotall X [B(%(2S) —
¥Xco(1P))] = (4.7 £0.7 £0.5) x 105 which we divide by our best value B(1/(2S) —

Txc0(1P)) = (9.79 £ 0.20) x 10~2. Qur first error is their experiment’s error and our
second error is the systematic error from using our best value.

I(K+PA(1520)+ c.c.) /Teotal M7g/T
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT
2.9+0.7+0.1 62+12 1 ABLIKIM 11F BES3 ¢(2S) — yppKT K™

L ABLIKIM 11F reports (3.00+0.58 +0.50) x 10 % from a measurement of [M(xco(1P) —
KT BA(1520) + c.c.)/Tiotall X [B(¥(2S) = ~vx,o(1P))] assuming B((25) —
¥Xco(1P)) = (9.62 £ 0.31) x 102, which we rescale to our best value B(¢(2S) —

Txc0(1P)) = (9.79 £ 0.20) x 10~2. Our first error is their experiment's error and our
second error is the systematic error from using our best value.

I (A(1520) A(1520)) /T sotal l79/T
VALUE (units 10*4) EVTS DOCUMENT ID TECN COMMENT
3.1+1.240.1 28 + 10 1 ABLIKIM 11F BES3 (2S) = ~vppKT K~

LABLIKIM 11F reports (3.18 £ 1.11 £ 0.53) x 10~% from a measurement of
[F(Xco(lP) — /\(1520)/\(1520))/rt0ta|] x [B((2S) — 'YXC()(lp))] assuming
B(¥(25) — vxo(1P)) = (9.62 £ 0.31) x 102, which we rescale to our best value

B((2S) — vx0(1P)) = (9.79 £ 0.20) x 102, Our first error is their experiment’s
error and our second error is the systematic error from using our best value.

M(Z9%0) /Tiotal go/l
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT

4.68+0.32 OUR AVERAGE

4.8240.3440.10 1046 L ABLIKIM 18V BES3 (2S) —» yx0%0
42 +0.7 +0.1 78+10  2NAIK 08 CLEO (25) » 3030

e o o We do not use the following data for averages, fits, limits, etc. @ o @

47 £05 £0.1 243 34 ABLIKIM 13H BES3 (25) » 3050

L ABLIKIM 18V reports [(xco(1P) = E9T0) /Iy iail X B(¥(2S) = vxo(1P))] =
(4.72 £0.18 £ 0.28) x 10> which we divide by our best value B((2S) — vXxc0(1P))

= (9.79 £ 0.20) x 10~2. Our first error is their experiment’s error and our second error
is the systematic error from using our best value.
2NAIK 08 reports (4.41 £ 0.56 £+ 0.47) x 10~% from a measurement of [M(xco(1P) —

$O50) Tigall X [B¥(2S) = vxco(1P))] assuming B($(2S) — vxo(1P)) =
(9.22+0.11 £ 0.46) x 10™2, which we rescale to our best value B(¥(25) = vx0(1P))

=(9.79 £ 0.20) x 102, Our first error is their experiment’s error and our second error
is the systematic error from using our best value.
3 ABLIKIM 13H reports (4.780.340.39) x 10~ # from a measurement of [["(xcq(1P) —

5O50) /T igall X [B¥(2S) = vxco(1P))] assuming B($(2S) — vxo(1P)) =
(9.62 £ 0.31) x 102, which we rescale to our best value B(¥(2S) — vxo(1P)) =

(9.79 £ 0.20) x 102, Our first error is their experiment’s error and our second error is
the systematic error from using our best value.
4 Superseded by ABLIKIM 18v

3/12/2021 16:46 Page 17

NODE=MO056R07
NODE=MO056R07

NODE=MO056R07;LINKAGE=AB

NODE=MO056R07;LINKAGE=LB
NODE=M056R07;LINKAGE=AT

NODE=MO056R99
NODE=MO056R99

NODE=MO056R99;LINKAGE=A

NODE=MO056R73
NODE=MO056R73

NODE=MO056R73;LINKAGE=AB

NODE=MO056R74
NODE=MO056R74

NODE=MO056R74;LINKAGE=AB

NODE=MO056R59
NODE=MO056R59

NODE=MO056R59;LINKAGE=A

NODE=MO056R59;LINKAGE=NA

NODE=MO056R59;LINKAGE=AB

NODE=MO056R59;LINKAGE=B



F(Z+Z_)/rm| Fg3/l
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT

4.6 0.8 OUR AVERAGE Error includes scale factor of 2.6.

5.10-£0.35+0.10 747 L ABLIKIM 18V BES3 (2S) » Xtz —
3.1 £0.7 +0.1 39+7  2NAK 08 CLEO (2S) —» rXT=—

e o o We do not use the following data for averages, fits, limits, etc. @ o @

45 405 +0.1 148 34 ABLIKIM 134 BES3 (25) » yXt=—

L ABLIKIM 18V reports [F(xco(1P) — >:+f*)/rtota|] x [B(¥(25) = vxo(1P))] =
(4.99 £0.24 £ 0.24) x 10~ which we divide by our best value B((2S) = vxo(1P))

= (9.79 £ 0.20) x 1072, Our first error is their experiment's error and our second error
is the systematic error from using our best value.
2NAIK 08 reports (3.25 + 0.57 + 0.43) x 10~ from a measurement of [M(xco(1P) —

>:+f*)/rtota|] x [B(¥(2S) — 'yxco(lP))] assuming B(y(2S) — yxco(lP)) =
(9.22+0.11 £ 0.46) x 10~2, which we rescale to our best value B(¥(2S) = vx0(1P))

= (9.79 £ 0.20) x 1072, Our first error is their experiment's error and our second error
is the systematic error from using our best value.
3 ABLIKIM 13H reports (4.54+0.4240.30) x 10~# from a measurement of [M(xco(1P) —

>:+f*)/rtota|] x [B(¥(2S) — 'yxco(lP))] assuming B(y(2S) — 'yxco(lP)) =
(9.62 £ 0.31) x 1072, which we rescale to our best value B(¥(2S) — vxo(1P)) =

(9.79 £ 0.20) x 102, Our first error is their experiment’s error and our second error is
the systematic error from using our best value.
4 Superseded by ABLIKIM 18v

VALUE (units 10_4) EVTS DOCUMENT ID TECN COMMENT
5.1+0.2+0.4 2143 1 ABLIKIM 201 BES3 (25) » yX X T

L ABLIKIM 201 reports (5.13+£0.24+0.41) x 10~% from a measurement of [M(xco(1P) —
) =

Z_f"')/rtotaﬂ] x [B(¥(2S) — 7XC0(1P))] assuming B(y¢(2S) — 'yxco(lP)
(9.79 £ 0.20) x 1072,

r(X(1385)* X(1385)~) /Tiotal lgs/I
VALUE (units 10_5) EVTS DOCUMENT ID TECN COMMENT
16.2+:5.8+0.3 27 1 ABLIKIM 120 BES3 (2S) = yAAx Tz~

L ABLIKIM 121 reports (16.4 £ 5.7 £ 1.6) x 10~ from a measurement of M (xco(1P) —
X(l385)+f(1385)_)/rtota|] x [B(¥(2S) — vx,o(1P))] assuming B((2S) —
Txc0(1P)) = (9.68 & 0.31) x 102, which we rescale to our best value B(¢(2S) —

7Xxc0(1P)) = (9.79 £ 0.20) x 102, Our first error is their experiment's error and our
second error is the systematic error from using our best value.

I(X(1385)~ X(1385)*) /Ttotal g6/l
VALUE (units 1075) EVTS DOCUMENT ID TECN COMMENT
23.2+6.5+0.5 33 1ABLIKIM 121 BES3 4(25) — yAAxtx—

L ABLIKIM 121 reports (23.5+£6.2+2.3) x 105 from a measurement of [M(xco(1P) —
X(1385)” X(1385) 1) /Torall % [B(¥(2S) —  vxco(1P))] assuming B(1(2S) —
rXxco(1P)) = (9.68 &+ 0.31) x 102, which we rescale to our best value B(y(2S) —

TXxc0(1P)) = (9.79 £ 0.20) x 102, Our first error is their experiment's error and our
second error is the systematic error from using our best value.

MK~ AZ* +cc.)/Teotal M7/l
VALUE (units 10_4) EVTS DOCUMENT ID TECN  COMMENT
1.94+0.35+0.04 57 1 ABLIKIM 151 BES3 (2S) = YK~ A=T + cc.

LABLIKIM 151 reports [M(xco(1P) — K= A=+ 4+ c.c.)/Tiotall X [B((25) —
X co(1P))] = (1.90+0.30 4 0.16) x 10~5 which we divide by our best value B(1(2S) —

TXxc0(1P)) = (9.79 £ 0.20) x 1072, Our first error is their experiment'’s error and our
second error is the systematic error from using our best value.

M(Z9=0) /T yotal les/l
VALUE (units 10_4) EVTS DOCUMENT ID TECN COMMENT
3.14+0.8+0.1 233+49  1NAK 08 CLEO (25) » ~=0=0

I NAIK 08 reports (3.34 £ 0.70 £+ 0.48) x 10~% from a measurement of [M(xco(1P) —
Z0Z0)/rorall ¥ [B((2S) — vxc0(1P))] assuming B(¥(2S) — vxco(1P)) =
(9.22+0.11 £ 0.46) x 10™2, which we rescale to our best value B(¥(2S) = vxo(1P))

=(9.79 £ 0.20) x 102, Our first error is their experiment’s error and our second error
is the systematic error from using our best value.
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ME=Z) /Neotal lgo/T

VALUE (units 1074) CL% EVTS DOCUMENT ID TECN COMMENT
4.840.740.1 95 + 11 1 NAIK 08 CLEO (25) » y=+=—

e o o We do not use the following data for averages, fits, limits, etc. @ o @

<10.3 90 2 ABLIKIM 06D BES2 (2S) — X0

I NAIK 08 reports (5.14 + 0.60 + 0.47) x 104 from a measurement of [M(xco(1P) —
=) Mipgall X BEES) = vxco(1P)] assuming B($(25) — 7xco(1P)) =
(9.22+0.11 £0.46) x 1072, which we rescale to our best value B((2S) = vx0(1P))

=(9.79 £ 0.20) x 10~2. Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

2Using B(¥(25) — xc07) = (9.2 £ 0.5)%

I-("7c nt W_)/rtotal Foo/T
VALUE CL% DOCUMENT ID TECN COMMENT

< 7x10~4 90 L2 ABLIKIM 138 BES3 ete™ — (25) = vxco
e o o We do not use the following data for averages, fits, limits, etc. e o @

<41 x 1074 90 1,3 ABLIKIM 138 BES3 ete™ — ¥(25) — vxgo

L Using 1.06 x 108 1(25) mesons and B(%(25) — Xc07) = (9.68 £ 0.31)%.
2From the Ne — KO KT o F decays.

S
3 From the Ne — Kt K= 70 decays.
I (pP)/Tiotal X (77)/Tiotal lsg/l x 32/T
VALUE (units 10_7) DOCUMENT ID TECN COMMENT
18.8+1.0 OUR FIT
15.3+2.440.8 L ANDREOTTI 03 E835 pp— xo — w070
L\We have multiplied B(pﬁ)~B(7r0 7r0) measurement by 3 to obtain B(pp)-B(w ).
I (PB)/Teotal X T(7°n)/Teotal lsg/I x I'33/T
VALUE (units 1077) DOCUMENT ID TECN COMMENT
<0.4 ANDREOTTI 05c E835 pp— n0n
" /
F(pPP)/Ttotal X T(7°%)/Trotal Isg/I" x T34/T
VALUE (units 10_7) DOCUMENT ID TECN COMMENT
<25 ANDREOTT!I 05C E835 pp— n0n
I (pP)/Teotal X T(11)/Teotal lsg/I x I'36/T
VALUE (units 10_7) DOCUMENT ID TECN COMMENT
6.7+0.5 OUR FIT
a0+12+93 ANDREOTTI 05C E835 pp — n7
= /
[ (pP)/Teotal X T(7')/Teotal lsg/l x 37/l
VALUE (units 1076) DOCUMENT ID TECN COMMENT
e o o We do not use the following data for averages, fits, limits, etc. @ o @
21723 ANDREOTTI 05c E835 pp— 707

—— RADIATIVE DECAYS —m———
I (vJ/%(1S))/Teotal o1/l

VALUE (units 1072) EVTS DOCUMENT ID TECN  COMMENT

1.4040.05 OUR FIT

e o o We do not use the following data for averages, fits, limits, etc. e o @

0.25+0.16+£2.15 12k L ABLIKIM 17U BES3 ete™ — v X

2.0 £0.2 +0.2 2 ADAM 05A CLEO ete™ — %(25) > vxo
INot independent from B( #(2S) — vx0(1P)) and the product B( %(2S5) —
¥Xc0(1P)) X B( xcg(1P) — ~J/¥(1S)) also measured in ABLIKIM 17u.

2Uses B((2S) — vxco — vvJ/¥) from ADAM 05A and B(%(2S) — vxg) from
ATHAR 04.
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0
F(7°) /Teotal Moo/l
VALUE (units 1076) CL% EVTS DOCUMENT ID TECN COMMENT
<9 90 1.2+45 IBENNETT  08A CLEO #(2S) — ~y+p0
e o o We do not use the following data for averages, fits, limits, etc. ® o @
<10 90 6+12 2 ABLIKIM 11E BES3 #(25) —» ~y+p0

1BENNETT 08A reports < 9.6 x 10— 6 from a measurement of [M(xeq(1P) = ~p )/
rtota|] x [B(y¢(2S) — 'yxco(lP))] assuming B(¢(2S) — 'YXCO (1P ‘38 (9.2 t0. 4) X

102, which we rescale to our best value B((2S) — 'yxco(lP)) =0.79 x 1072

2 ABLIKIM 11E reports < 10.5 x 1076 from a measurement of [Mxco(1P) = ~p 0)/
rtotall x [B(y(2S) — 'yXCO(lP))] assuming B(¢(2S) — 'yXCO(lP)S =(9.62+0.31) x

102, which we rescale to our best value B(¥(2S) = vxo(1P)) = 9.79 x 10~ 2

I (Yw)/Teotal Fo3/T
VALUE (units 1076) CL% EVTS DOCUMENT ID TECN COMMENT

<8 90 0.0+28 1 BENNETT 08A CLEO 1(2S) —» vyyw

e o o We do not use the following data for averages, fits, limits, etc. ® o @

<13 90 5+ 11 2 ABLIKIM 11E BES3 4(2S) —» yyw

IBENNETT 08A reports < 8.8 x 10~6 from a measurement of [Mxco(1P) = ~w)/
Miotall X [B(¥(2S) — vx0(1P))] assuming B(¢)(25) — vxo(1P)) = (9.2 4+ 0.4) x
102, which we rescale to our best value B(¥(2S) = vxo(1P)) = 9.79 x 102,

2 ABLIKIM 11E reports < 12.9x 10~ from a measurement of [ (x o (1P) = 7w)/Totall
x [B(¥(25) = vx(1P))] assuming B(¥(2S) — vxo(1P)) = (9.62£0.31) x 1072,
which we rescale to our best value B(¢(2S) — 7vxo(1P)) = 9.79 x 102,

I(v9)/Ttotal Toa/I
VALUE (units 10_6) CL% EVTS DOCUMENT ID TECN COMMENT

<6 90 0.1+1.6 1 BENNETT 08A CLEO (2S) — ~~v¢

e o o We do not use the following data for averages, fits, limits, etc. @ o @

<16 90 15 + 7 2 ABLIKIM 11E BES3 4(2S) —» ~vv¢

IBENNETT 08A reports < 6.4 X 10=% from a measurement of [I'(XCO(IP) = v9¢)/
Tiotall X [B(¥(2S) — vx0(1P))] assuming B(¢)(2S) — vyxo(1P)) = (9.2 4+ 0.4) x
102, which we rescale to our best value B(¥(2S) = vxo(1P)) = 9.79 x 102,

2 ABLIKIM 11E reports < 16.2x10© from a measurement of [ (xcq(1P) = 7¢)/Total]
X [B(¥(2S) = vxo(1P))] assuming B(1(2S) = vxo(1P)) = (9.62+0.31) x 1072,
which we rescale to our best value B(¢)(25) — vxo(1P)) = 9.79 x 1072,

F(vY) /Ttotal los/T

VALUE (units 10~4) L% DOCUMENT ID TECN  COMMENT
2.0410.09 OUR FIT

e o o We do not use the following data for averages, fits, limits, etc. e o @
<7 90 LWICHT 08 BELL BT — KTy
LWICHT 08 reports [ (xcq(1P) = 77)/Tiotall X [B(BT = xcoKT) < 0.11x10706
which we divide by our best value B(BT — Xc0 KT)=151x 1074

(et e=J/¥(1S)) /Tiotal Fos/T

VALUE (units 10_4) EVTS DOCUMENT ID TECN  COMMENT

e o o \We do not use the following data for averages, fits, limits, etc. e o @
1.5440.3340.03 56 1,2 ABLIKIM 171 BES3 (2S) = yete™ J/y
L ABLIKIM 171 reports (1.51 40.30 £ 0.13) x 10~% from a measurement of [M(xco(1P) —
et e J/(1S)) /Trotall X [B(¥(2S) = vxco(1P))] assuming B(4:(25) = vxo(1P))
= (9.99 =+ 0.27) x 10~ 2, which we rescale to our best value B()(2S5) — ¥Xxc0(1P))

= (9.79 £ 0.20) x 10~2. Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

2 Not independent from other measurements reported by ABLIKIM 17i

I(ete™J/v(1S)) /T (vJ/(15)) lo6/To1
VALUE (units 1073) EVTS DOCUMENT ID TECN COMMENT
9.5+1.9+0.7 56 LABLIKIM 171 BES3 (25) — et e ~J/3

L Uses B(9(25) = vx0(1P)) x B(xco(1P) = vJ/¥(1S)) = (15.8i0.3i0.6)><10_4
from ABLIKIM 17N and accounts for common systematic errors.
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M (ut u=J/9(15)) /T (et e J/9(15)) lo7/To6

VALUE CL% _EVTS DOCUMENT ID TECN COMMENT

<0.14 90 <95 ABLIKIM 197 BES3 4(25) = yxo —
vt ™ J/2p)

F(vy)/T(vJ/9(15)) lo5/l01

VALUE (units 1072) DOCUMENT ID TECN COMMENT

1.4510.08 OUR FIT
2.0 £0.4 OUR AVERAGE

22 +04 791 L ANDREOTTI 04 E835 pp— xco — 77
1.454+0.74 2 AMBROGIANI 008 E835 Bp — xcp — 77 vJ/%
1 The values of B(pp)B(vv) and B(yv)B(yJ/¢) measured by ANDREOTTI 04 are not

independent. The latter is used in the fit because of smaller systematics.
2 Calculated by us using B(J/¥(15) — et e™) = 0.0593 + 0.0010.

[ (pP)/Ttotal X T(vJ/¥(1S))/ total Isg/T x Fg1/T
VALUE (units 10_7) EVTS DOCUMENT ID TECN COMMENT

31.1+1.5 OURFIT

28.2+2.1 OUR AVERAGE

28.04+1.9+1.3 392 L23BAGNASCO 02 E835 Bp— xco — J/¥7

203120415 89 1,2 AMBROGIANI 998 PP — Xeo = J/¥v

1values in (r(pﬁ) X I'('yJ/z/;(lS))/l'tota|) and (.r(pﬁ)/l'totm X F(WJ/w(ls))/I'totm)
are not independent. The latter is used in the fit since it is less correlated to the total
width.

2 Calculated by us using B(J/¥(15) — et e™) = 0.0593 + 0.0010.

3 Recalculated by ANDREOTTI 05A.

F(PP)/Ttotal X T(77)/Teotal Isg/I" x lg5/T
VALUE (units 1078) DOCUMENT ID TECN COMMENT
4.52+0.27 OUR FIT

e o o We do not use the following data for averages, fits, limits, etc. ® o @

6.52+1.187 048 1 ANDREOTTI 04 E835 pb— xeo— 77

I The values of B(pp)B(vyv) and B(yv)B(yJ/%) measured by ANDREOTTI 04 are not
independent. The latter is used in the fit because of smaller systematics.

Xc0(1P) CROSS-PARTICLE BRANCHING RATIOS

(xc0(1P) = PP)/Tiotal X T(¥(25) = YXxc0(1P))/Ttotal s
2
Fsg/T x FYZS) /ru(2s)
VALUE (units 1076) EVTS DOCUMENT ID TECN COMMENT

21.7+0.9 OUR FIT
23.7+1.0 OUR AVERAGE

23.740.840.9 1222 ABLIKIM  13v BES3 (25) — vpP
237414414 383+22  LNAIK 08 CLEO (2S) — ~ypp
236737434 805"l BAI 04F BES  9(2S) = vxco(1P) = vPp

1 Calculated by us. NAIK 08 reports B(x.g — pp) = (25.7 £ 1.5 £ 1.5 £ 1.3) x 10—°
using B(1(25) = vxcg) = (9.2 + 0.11 + 0.46)%.

I (xco(1P) = PP)/Teotal X T(¥(2S) = vxc0(1P))/T (¥(2S) =

J/$(1S)x* 7~) Fsg/T x FY2S) /r¥(29)
VALUE (units 10_5) DOCUMENT ID TECN COMMENT

6.2510.26 OUR FIT

46 +1.9 1Bal 981 BES  (25) = vxco — VPP

1 Calculated by us. The value for B(x.g — pP) reported in BAI 98I is derived using

B(4(25) = 7xcg) = (9:3%0.8)% and B(4(25) — J/4(1S)n T 77) = (32.4+2.6)%
[BAI 98D].
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I'(xco(lP) - Am/rtotal X I'(¢(2S) - ’YXcO(lP))/rtotal

2

F71/T x r‘féf)/ rv(2s) NODE=M056B20
VALUE (units 10~6) EVTS DOCUMENT ID TECN  COMMENT NODE=M056B20
32.0+2.3 OUR FIT
31.742.3 OUR AVERAGE
32.04£1.942.2 369  LABLIKIM 13H BES3 1(2S) — yAA
31.243.3+2.0 131+12  2NAK 08 CLEO (2S) — vAA

1Ca|cu|ated by us. ABLIKIM 13H reports B(XCO — /\Z) = (33.3 + 20+ 2.6) X 1075 NODE:M056820;L|NKAGE:AB

from a measurement of B(x.g = AA) x B(¥(25) = ~vxq) assuming B(y(25) —
vXco) = (9.62 + 0.31)%.

2Ca|cu|ated by us. NAIK 08 reports B(XCO — /\Z) = (33.8 +36+22+ 1.7) X 10_5 NODE=M056B20:LINKAGE=NA
using B(¥(25) = vxg) = (922 + 0.11 + 0.46)%. '

I (xco(1P) = AA) [Tigral % T(¥(2S) = vxc0(1P))/T (¥(2S) -

- ¥(2S) ,~¥(2S
J/(1S)tx™) F71/T x r15£1 )/rn( ) NODE=MO056B21
VALUE (units 10~5) EVTS DOCUMENT ID TECN  COMMENT NODE=M056B21
9.240.7 OUR FIT
130138425 152742 lgal 03t BES  (25) — yAA
L BAI 03€ reports [ B(xco = AA) B(¥(2S) = vxc0) / B@(2S) —» J/wrtr™)] x NODE=MO056B21;LINKAGE=BA

[B2(A — =« p) / B(J/v — pp)] = (2451‘822 =+ 0.46)%. We calculate from this

measurement the presented value using B(A = 7 p) = (63.9 & 0.5)% and B(J/¢ —
pp) = (2.17 £ 0.07) x 1073.

M(xco(1P) = vJ/¥(1S))/Teotal X T(¥(25) = YXc0(1P))/Ttotal

$(25) 25
Fo1/T x gy /T¥(25) NODE=M056B2
VALUE (units 10~2) EVTS DOCUMENT ID TECN  COMMENT NODE=M056B2

0.138+0.005 OUR FIT
0.147+0.029 OUR AVERAGE Error includes scale factor of 4.6.

0.1584+0.003+0.006 4.8k 1 ABLIKIM 17N BES3  ¢(2S) — vy~ J/¢
0.02440.01540.205 12k ABLIKIM 17U BES3 ete™ — v X
0.069+0.018 2 OREGLIA 82 CBAL 9(2S) = vxco
0.4 +0.3 3BRANDELIK 798 DASP 4(25) = vxco
0.16 +0.11 3 BARTEL 788 CNTR (2S) = vxco
33 £17 4 BIDDICK 77 CNTR ete™ — 4X
e o o We do not use the following data for averages, fits, limits, etc. e o @
0.151+£0.003+0.010 4.3k 5 ABLIKIM 120 BES3 ¢(2S) — YXc0
0.125+0.0074+0.013 560  © MENDEZ 08 CLEO %(2S) = vxco
0.18 £0.01 +0.02 172 7 ADAM 05A CLEO Repl. by MENDEZ 08
LUses B( J/w — ete™) = (5.971 + 0.032)% and B( J/y — pTp~) = (5.961 £ NODE=MO056B2;LINKAGE=A
0.033)%.
2 Recalculated by us using B(J/4(1S) — ot ¢~) = 0.1181 =+ 0.0020. NODE=MO056B;LINKAGE=3Q
3 Recalculated by us using B(J/%(1S) — u+ 1~ ) = 0.0588 £ 0.0010. NODE=M056B;LINKAGE=2Q
4 Assumes isotropic gamma distribution. NODE=MO056B;LINKAGE=EA
5Superseded by ABLIKIM 17N. NODE=MO056B2;LINKAGE=B
6 Not independent from other measurements of MENDEZ 08. NODE=MO056B2;LINKAGE=ME
7 Not independent from other values reported by ADAM 05A. NODE=MO056B2:LINKAGE=AD
M(xco(LP) = 7J/$(1S)) /Trotal X T(%(25) = vxc0(1P))/T (¥(2S)
: ¥(2S) ;r¥(2S)
J/9(1S)anything) Fo1/I x Iy5) /Ty NODE=MO056B7
»(2S) , (25 $(2S) ,,b(2S)  (2S) (25
Fou/T x s> g ) =rgy/mx 18 /2904y 29) 1 29) NODE=MO056B7
Y(25) Y(25)
0.343I g5’ +0.1901"; -5 )
VALUE (units 10~2) EVTS DOCUMENT ID TECN  COMMENT NODE=MO056B7

0.224+0.009 OUR FIT

e o o We do not use the following data for averages, fits, limits, etc. @ o @

0.2014+0.01140.021 560 1 MENDEZ 08 CLEO %(2S) = 7Xco
0.31 £0.02 £0.03 172 ADAM 05A CLEO Repl. by MENDEZ 08

I Not independent from other measurements of MENDEZ 08. NODE=MO056B7;LINKAGE=ME



M(xco(1P) = 7J/%(15)) /Trotal X T (¥(25) = vxc0(1P))/T (¥(25) -

J/$(1S)xt 7™) Fo1 /T x F¥ZS) /r¥(29)
VALUE (units 1072) EVTS DOCUMENT ID TECN COMMENT
0.397+0.015 OUR FIT

0.358+0.020+0.037 560 MENDEZ 08 CLEO %(2S) — vXxc0

e o o We do not use the following data for averages, fits, limits, etc. @ o @

0.55 +0.04 +0.06 172 1 ADAM 05A CLEO Repl. by MENDEZ 08

I Not independent from other values reported by ADAM 05A.

I(xc0(1P) = 77) /Teotal X T(¥(25) = ¥xc0(1P))/Ttotal
Fos/T x [E25) /rv(25)
VALUE (units 1075) EVTS DOCUMENT ID TECN COMMENT

2.00+0.08 OUR FIT
1.951+0.09 OUR AVERAGE

1.934+0.08+0.05 3.5k ABLIKIM 17AE BES3  9(2S5) — vx0 — 37
2.174+0.32+0.10 0.2k ECKLUND 08A CLEO %(2S) — vxc0 — 37
3.7 £1.8 +1.0 LEE 85 CBAL (25) — vxc0

e o o We do not use the following data for averages, fits, limits, etc. ® o @
2.174+0.17+0.12 0.8k 1 ABLIKIM 12A BES3  9(2S) — vx0 — 37

1Superseded by ABLIKIM 17AE.

M(xco(1P) = 77) /Teotal X T(¥(2S) = YXc0(1P))/Ttotal
Faa/T x T{53°) /¥ (25)
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT

8.34+0.29 OUR FIT
8.801+0.34 OUR AVERAGE

9.11£0.08+0.65 17k 1 ABLIKIM 10A BES3 eTe™ — 9(25) = vxgo
8.814+0.114+043 89k  2ASNER 09 CLEO (2S) — yntx—
8.13+0.19+£0.89 2.8k 3 ASNER 09 CLEO (25) — vn0#0

L Calculated by us. ABLIKIM 10A reports B(xoq — 7970) = (3.23 + 0.03 + 0.23 +
0.14) x 1073 using B(4/(25) = vxg) = (9.4 £ 0.4)%. We have multiplied the 700
measurement by 3 to obtain 7.

2 Calculated by us. ASNER 09 reports B(x.g — aT7~) = (6.37 + 0.08 £+ 0.31 +
0.32) x 1073 using B(:(25) — 7xcp) = (9:22 % 0.11 + 0.46)%. We have multiplied
the 7T 7~ measurement by 3/2 to obtain 7.

3 Calculated by us. ASNER 09 reports B(xoq — 70n0) = (2.94 + 0.07 + 0.32 + 0.15) x
103 using B((25) — YXc0) = (9:22 & 0.11 & 0.46)%. We have multiplied the

7070 measurement by 3 to obtain 7.
M(xco(1P) = 77) [Teoral X T'(¥(25) = vxc0(1P))/T (¥(25) —
Jjpas)ata) s/ x [ /i)

VALUE (units 10_4) EVTS DOCUMENT ID TECN  COMMENT

24.040.8 OUR FIT

20.7+1.7 OUR AVERAGE

23.94274+41 97 £ 11 1Bal 03¢ BES  (2S) = yxco — vm0n0
202411415 720432  2BAl 981 BES  4(25) = vxeg = YA

1 We have multiplied 7070 measurement by 3 to obtain 7.
2 Calculated by us. The value for B(xco — 7T 77) reported in BAI 98I is derived using

B(¢ — vxc0)= (93£0.8)% and B(y/ — J/¢nt77) = (32.4 £+ 2.6)% [BAI 98D].
We have multiplied 7t 7~

I (xco(1P) = 1m)/Total X T(¥(2S) = vxc0(1P))/Ttotal
Fag/T x F2S) /ru(2s)

VALUE (units 1074) EVTS DOCUMENT ID TECN  COMMENT

™

measurement by 3/2 to obtain 7.

2.951+0.18 OUR FIT

3.1240.19 OUR AVERAGE

3.23+0.09+0.23 2132 L ABLIKIM 10A BES3 etTe™ — »(2S) = YXxc0
2.93+0.124+0.29 0.9k 2 ASNER 09 CLEO (2S) — ~nn

e o o \We do not use the following data for averages, fits, limits, etc. ® o @

2.86+0.46+0.37 48 3 ADAMS 07 CLEO (2S) = vxco
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L Calculated by us. ABLIKIM 10A reports B(xcg — mm) = (3.44+0.104+0.24 +0.13) x
1073 using B(y(25) = vxco) = (9-4 + 0.4)%.
2 Calculated by us. ASNER 09 reports B(x g — nn) = (3.18i0.13i0.31i0.16)><10_3
using B(¥(2S) — vxcg) = (922 £ 0. 11 + 0.46)%.

Superseded by ASNER 09. Calculated by us. The value of B(x.q(1P) — nn) reported
by ADAMS 07 was derived using B((25) — ~vxo(1P)) = E) 22 + 0.11 + 0.46)%

(ATHAR 04).
I(xco(1P) = 1) /Teotal X T(¥(2S) = vxc0(1P))/T (¥(2S) — . .
_ 2 2
J/$(1S)x* 7~) Fag/T x F2S) /r¥(29)
VALUE (units 10_3) DOCUMENT ID TECN COMMENT
0.85 +0.05 OUR FIT
0.578+0.241+0.158 BAI 03¢ BES  (25) — ~nn

M (xco(1P) = K+ K™)/Trotal X T(%(25) = 7Xxc0(1P))/Ttotal
Faa/T x TY2S) /ru(2s)

VALUE (units 10*4) EVTS DOCUMENT ID TECN COMMENT
5.92+0.28 OUR FIT
5.97+0.07+0.32 8.1k  LASNER 09 CLEO (25) — vKt K~

L Calculated by us. ASNER 09 reports B(x.g — KT K™) = (6.47 + 0.08 + 0.35 +
0.32) x 1073 using B(4(25) = vxcq) = (9:22 £ 0.11 + 0.46)%.

F(xco(1P) = K+ K~)/Frotal x T(¥(25) — vxc0(1P))/T (¥(25) -

_ 2 2
J/$(1S)xt 7™) Fa2/T x T829) /r¥(29)
VALUE (units 10*3) EVTS DOCUMENT ID TECN COMMENT
1.71+0.08 OUR FIT
1.63+0.10+0.15 774 + 38 1 Bal 981 BES  (25) » yKT K~

1 Calculated by us. The value for B(x g — KT K~) reported by BAI 98I is derived using

B($(25) = 7xco) = (9:3 + 0.8)% and B()(2S) — J/pntx~) = (32.4 + 2.6)%
[BAI 98D].

I (xco(1P) = KLK2)/Teoral x T(¥(25) = vXc0(1P))/Teotal
Faa/T x T2S) /ru(2s)
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT

3.10+0.16 OUR FIT
3.18+0.17 OUR AVERAGE

3.2240.0740.17 2.1k 1 ASNER 09 CLEO (25) » vK2 KO
3.0240.1940.33 322 ABLIKIM 050 BES2 (2S) — 7K§ K§
1 Calculated by us. ASNER 09 reports B(xcg — K2KQ) = (349 + 0.08 + 0.18 +
0.17) x 103 using B(¥(2S) — vXxc0) = (9:22 £ 0.11 + 0.46)%.

M(xco(1P) = KLKZ)/Tiotal X T(¥(2S) = vxc0(1P))/T (¥(2S) =

J/¢(15) 7l'+7l' ) r43/r X r¢(25)/r¢(25)
VALUE (units 1074) DOCUMENT ID TECN COMMENT

8.940.5 OUR FIT

5.6+0.8+1.3 LAl 998 BES  ¥(25) - vK%LKY

1 Calculated by us. The value of B(x g — K% K%) reported by BAI 99B was derived using

[B(Apl(zs)]e Yxco(1P)) = (9.3+0.8)% and B(¢(25) — J/vnT77) = (32.4+2.6)%

M(xco(1P) = 2(xt 77)) /Toral X T(¥(25) = vxc0(1P))/T (¥(2S) —

J/(18)m+ ) M /T x T8 r2s)
VALUE (units 10_3) DOCUMENT ID TECN COMMENT

6.61+0.5 OUR FIT
6.91+2.4 OUR AVERAGE Error includes scale factor of 3.8.
4.4+0.1+0.9 1Al 998 BES  9(2S) — vx¢o
9.340.9 2 TANENBAUM 78  MRKIL %(2S) = 7xg
1 Calculated by us. The value for B(x g — 2t 27~ ) reported in BAI 998 is derived using
B(4(25) — vXcg) = (9:3+0.8)% and B(1(2S) — J/¢(1S)nt n—) = (32.4+2.6)%
[BAI 98D].
2The value B(¥(1S) — vxc0)xBl(xeo — 27T 277) reported in TANENBAUM 78 is
derived using B(4(2S) — J/¥(1S)n T 77 )xB(J/¢(1S) — £T47) =(4.6 + 0.7)%.
Calculated by us using B(J/4(1S) — ¢1£7) = 0.1181 + 0.0020.

3/12/2021 16:46 Page 24

NODE=MO056B11;LINKAGE=AB

NODE=MO056B11;LINKAGE=AS

NODE=MO056B11;LINKAGE=AD

NODE=MO056B10
NODE=M056B10

NODE=MO056B23
NODE=M056B23

NODE=MO056B23;LINKAGE=AS

NODE=M056B9
NODE=MO056B9

NODE=MO056B9;LINKAGE=BA

NODE=M056B12
NODE=MO056B12

NODE=M056B12;LINKAGE=AS

NODE=M056B13
NODE=MO056B13

NODE=M056B13;LINKAGE=BA

NODE=MO056B4
NODE=M056B4

NODE=M056B;LINKAGE=B2

NODE=M056B;LINKAGE=J1



M(xco(1P) = 7+ 7~ K* K™)/Teotal x T(¥(25) = 7Xc0(1P))/Ttotal
Fg/I x FY&5) /r(2s)

VALUE (units 1073) DOCUMENT ID TECN COMMENT

1.78+0.14 OUR FIT

1.64+0.05+0.2 ABLIKIM 05Q BES2 4(2S) = vxco

(xeo(1P) = w2~ KK Tt x T(9(25) = 7xca(1P))/F(#(25) -
- 2 2

J/p(1S) 7+ 77) Fg/T x [429) /r¥(29)

VALUE (units 1073) DOCUMENT ID TECN COMMENT

5.1 £0.4 OURFIT
5.8 £1.6 OUR AVERAGE Error includes scale factor of 2.3.
4.2240.20+0.97 BAI 998 BES  ¥(25) = vxco
74 +1.0 1 TANENBAUM 78 MRKL %(25) = vxco
1 The reported value is derived using B(y(2S) = ntx— J/y) x BJ/yp — ¢te7) =
(4.6 £ 0.7)%. Calculated by us using B(J/¢» — ¢T¢~) = 0.1181 + 0.0020.

M(xco(1P) = Kt K~ KT K™) /Teoral X T(#(25) = 7Xxc0(1P))/Teotal
Fs1/T x FY2S) /ru(2s)

VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT
2.761+0.28 OUR FIT
3.2040.11+0.41 278 1 ABLIKIM 06T BES2 1(25) — ~v2K+2K™

1 Calculated by us. The value of B(x.q — 2KT2K™) reported by ABLIKIM 06T was
derived using B(¢(25) — 'yxco(lP‘SS) = (9.2 £ 0.4)%.

M(xco(1P) = Kt K~ K+ K~) [Tigtal X T(¥(25) = vxc0(1P))/

F(¥(2S) = J/(1S)x* ™) Fs1 /T x [529) r¥(29)
VALUE (units 1074) DOCUMENT ID TECN COMMENT

8.0+0.8 OUR FIT

6.1+0.8+0.9 1gal 998 BES  (2S) — 2Kt 2K~

1 Calculated by us. The value of B(x.qg — 2K+2K_) reported by BAI 99B was derived

using B(¥(2S5) — vxg(1P)) = (9.3+0.8)% and B(v)(2S) — JiprtaT)=(324+
2.6)% [BAI 98D].

r(Xco(]-P)—’ ¢¢)/rtotal X r(¢(25)—) 'YXcO(lP))/rtotal
Fse/T x FY2S) /ru(2s)
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT
0.78+0.07 OUR FIT
0.78+0.08 OUR AVERAGE
0.7740.03+0.08 612 L ABLIKIM 11Kk BES3  #(2S) — ~ hadrons
0.86+0.194+0.12 26 2 ABLIKIM 06T BES2 1(2S) — 'y2K+2K_
1 Calculated by us. The value of B(x.g — ¢¢) reported by ABLIKIM 11K was derived
using B(¥(2S) = vxo(1P)) = (9.62 £ 0.31)%.
2 Calculated by us. The value of B(x.g — ¢¢) reported by ABLIKIM 06T was derived
using B((25) — vxo(1P)) = (9.2 £ 0.4)%.

M(xco(1P) = 69)/Tiotal X T(¥(2S) = Yxco(1P))/T (¥(2S) -

JIp(1S)at ™) Fs6/T x Iaa) /1{{%)
VALUE (units 10*4) DOCUMENT ID TECN COMMENT

2.25+0.21 OUR FIT

26 +1.0 +1.1 LAl 998 BES  (25) —» y2KT2K™

1 Calculated by us. The value of B(x.g — ®#¢) reported by BAI 998 was derived using

B(1/(25) = vxco(1P)) = (9.3 £0.8)% and B(y(2S) — J/¢nT n7) = (32.4£2.6)%
[BAI 98D].

M(xco(1P) = Z+BKL+c.c.)/Tiotal X T(¥(25) = Yxc0(1P))/Ttotal
Fg1 /T x F25) /rv(25)

VALUE (units 1075) EVTS DOCUMENT ID TECN  COMMENT

3.454+0.1740.19 493 1 ABLIKIM 1988 BES3  9(25) — 7 X T KL + cc.

! Calculated by us. ABLIKIM 1988 reports B(x? — =+ pK% + cc) = (352 +£0.19 &

0.21) x 104 using B(¥(25) — 'yxg) = (9.79 £ 0.20)% and other branching fractions
from PDG 18.
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I(xco(1P) = Z9BK+ +c.c.)/Tiotal X T(¥(2S) = Yxc0(1P))/Ttotal

VALUE (units 10~5)

EVTS

DOCUMENT ID

Fg2/T x [E25) /rv(25)

TECN

COMMENT

2.971+0.12+0.14

! Calculated by us. ABLIKIM 20AE reports B(x? — 505K+ + cc) = (303 £0.12 %
0.15) x 10~# using B(¥(25) — 'yxg) = (9.79 £ 0.20)% and other branching fractions

871

1 ABLIKIM

20AE BES3  (25) » vxO0pkt

+ c.c.

from PDG 20.
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